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PREVIEW QUESTION BANK(Dual)

Module Name : Commerce
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Objective Question

908501 The following table shows the percentage distribution of five different Models (A-E) of Mobile Phones produced by a company during

the years 2021 and 2022. Total number of Mobile Phones produced by the company in 2021 and 2022 is 4,50,000 and 5.20.000,
respectively. Based on the data in the table, answer the questions 1-5

Year-wise Percentage (%) Distribution of Model of Mobile Phones.

Model/Year A B C D E
2021 15% 25% 30%  10% 20%
2022 10% 30%  25%  25% 10%

What is the difference between the number of Model-C Mobile phones produced by the company in the years 2021 and 2022 ?
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Objective Question

908502/ The following table shows the percentage distribution of five different Models (A-E) of Mobile Phones produced by a company during

the years 2021 and 2022. Total number of Mobile Phones produced by the company in 2021 and 2022 is 4.50,000 and 5.20.000,
respectively. Based on the data in the table. answer the questions 1-5

Year-wise Percentage (%) Distribution of Model of Mobile Phones.

Model/Year A B & D E
2021 15% 25% 30%  10% 20%
2022 10% 30%  25%  25% 10%

If 85% of the number of Model-E Mobile phones produced by the company during 2021 and 2022 were sold, then how many Model-E
Mobile phones were left unsold by the company?

. 142800
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25200
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Objective Question

3908503 e following table shows the percentage distribution of five different Models (A-E) of Mobile Phones produced by a company during

the years 2021 and 2022. Total number of Mobile Phones produced by the company in 2021 and 2022 is 4,50,000 and 5.20.000,
respectively. Based on the data in the table, answer the questions 1-5

Year-wise Percentage (%) Distribution of Model of Mobile Phones.

Model/Year A B & D E
2021 15% 25% 30%  10% 20%
2022 10% 30% 25% 25% 10%

If the number of Model-A Mobile phones produced by the company in 2022 was the same as that in 2021, then what would have been
its approximate percentage share in the total production of 2022 ?
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Objective Question
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The following table shows the percentage distribution of five different Models (A-E) of Mobile Phones produced by a company during
the years 2021 and 2022. Total number of Mobile Phones produced by the company in 2021 and 2022 is 4,50,000 and 5.20.000,
respectively. Based on the data in the table, answer the questions 1-5

Year-wise Percentage (%) Distribution of Model of Mobile Phones.

Model/Year A B G D E

2021 15% 25% 30% 10% 20%

2022 10% 30% 25% 25% 10%

The number of Mobile phones of Model-B in the year 2022 is approximately % more than the number of Model-D

Mobile phones in the year 2021.
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The following table shows the percentage distribution of five different Models (A-E) of Mobile Phones produced by a company during
the years 2021 and 2022. Total number of Mobile Phones produced by the company in 2021 and 2022 is 4,50,000 and 5.20.000,
respectively. Based on the data in the table, answer the questions 1-5

Year-wise Percentage (%) Distribution of Model of Mobile Phones.

Model/Year A B C D E
2021 15% 25% 30% 10% 20%
2022 10% 30%  25%  25% 10%

What is the ratio of the number of Mobile phones of Model-C.D and E in the year 2022 to the number of Mobile phones of Models B,
C and D in the year 20217
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Objective Question
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If Ram is not able to understand certain concept in a particular subject and is continuously performing poorly in that subject. which
evaluation test will have to be conducted to know the cause of his difficulties?

. Placement Evaluation
. Diagnostic Evaluation
. Summative Evaluation
. Formative Evaluation
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Objective Question

7908507 Which of the following levels of teaching involves the highest order thinking skills?

. Memory level

. Understanding level

. Reflective level

. All levels involve similar thinking skills
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Which of the following are the online tools used for creating and sharing mind maps?

A. Coogle

B. Flipgrid

C. Mindmeister
D. Google forms
E. Miro

Choose the correct answer from the options given below:

A . C&E only
.B.D E only
A& Conly
.B & D only
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Objective Question

9 908509 Which of the following is an example of an inclusive learning environment?

. A classroom where students are expected to conform to strict set of rules and regulation.

. A classroom where only students of a certain ethnicity are allowed to participate in class discussion.

. A classroom where students are discouraged from asking questions or challenging the teacher's authority.
. A classroom where all the students are encouraged to share their unique experiences and perspectives.
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Objective Question

101908510/ Giv-en below are two statements:
Statement I: Teaching at the understanding level involves encouraging students to think eritically and reflect on their learning experience
Statement II: Teaching at the memory level involves rote memorization and does not encourage critical thinking.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement II is true
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Objective Question

117908511 Given below are two statements:

Statement I: In observational research. the variables are actively manipulated and the environment is as controlled as possible.
Statement IT:Observational research allows you to eliminate the influence of many extraneous factors.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

| 3]

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement II is true
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Objective Question

121908512 When the researcher's sex affect the behaviour of a participant in a study, it refers to

. Psychosocial Effect

. Psychological Effect
. Biosocial Effect

. Environmental Effect
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Objective Question

13 908513 Arrange the following scales of measurement from the simplest to the most evolved.

A. Ordinal

B. Nominal
C. Ratio

D. Interval

Choose the correct answer from the options given below:
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Objective Question

141908514 \hen studies on a given topic lead to similar conclusions, the measurements show

1. Convergent Validity
2. Criterion Validity

3. Divergent Validity
4. Construct Validity
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Objective Question

151908515 ' yhich of the following p-values would signify that a sample correlation coefficient is significant at 1% level of significance?
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Objective Question
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Soaps. sit-coms and comics are part of

. High- brow culture

. Middle-brow culture
. Restrictive culture

. Popular culture
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Objective Question

171908517 The first highway of information is

. Newssheets
. Telegraph
3. Films

4. Internet
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Objective Question
18 908518
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The main functions of mass media are to:

A. Make a society static
B. Inform

C. Educate

D. Persuade

E. Entertain

Choose the correct answer from the options given below:

B. C only
C.E only
.B.C.D .E only
.A.B.D only

SR A1 $ 99 o ©:
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Objective Question

191908519 Giiven below are two statements:
Statement I: The digital technology has enabled increase in media consumption.
Statement II: Analog media are superior in quality, but do not have popular demand.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

| ]

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement II is true
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Objective Question

201908520 Given below are two statements:
Statement I: Communication can be a path to seek truth.
Statement II: Communication can also be used to suppress truth.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I 1s false but Statement I 1s true
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Objective Question
21

908521 \What number would replace question mark (?) in the series given below?

11,13,17.19.23. 2, 31, 37

28
25
27
4.29

141 T A €1 71 e 1 vy g & ufawifid st
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Objective Question

22 908522 Tpe present age of the father of a boy is twice the age of the boy. Six years later the ratio of their ages will be 11:6. Find the present age
the boy?

. 30 years
. 28 years
. 25 years
.23 years
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Objective Question

23 908523 ; 5o : . . ] ; ;
An amount of T 2040 is to be divided among three friends x. v and z. The friend z is to be given 2/3% of what v has to be given and y ha

to be given 1/4™ of that of x. How much money will y recieve?

1. 2360
2. %1440
3.3240
4. 2600

I 0 x, y 3R 2 § 2040 94 &1 fGUITHd a1 T8 1 2 B y BT 2/3 UFT IGAT AT § 3R y Bl x BT 1/4 I AT 8, Al y B
fepam vud e

. 2360
2. 71440
3. 2240
4. 7600
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Objective Question

24 908524 1fin a certain coding language. PAINT is coded as 93546 and EXCEL is coded as 78271, then how will ACCEPT be coded in that
language?

322769
1322076

232796

4. 322796

afe; fodt e UToT H PAINT B1 93546 3R EXCEL 1 78271 & U H $eas fodl 91l &, al. ACCEPT &l [&¥ USR Heds [a
ST
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. 322769
. 322076
. 232796
322796

da o ko =
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26 908526

Objective Question
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Objective Question

b =

o

4

. 25 years
. 28 years
. 18 years
. 23 years

o =

&

4

. Denying the consequent

. Affirming the consequent
. Denying the antecedent

. Chain argument

h

2.9.4.4

[ - ]

11_2B_Live_Comm_E_1-100.html

25 908525 A sum of money doubles in 14 years. In how many years would it tripple if the rate of interest is considered as simple?

Pl Y=RIRT 14 GO & G 61 S § 1 fE ST &R TIeRO7 A1 S, & faa anf & T a2y o= 71 8 i

Identify the common pattern of deductive reasoning in the following argument:

file:///C:/Users/Administrator/Downloads/11_2B_Live_Comm_E/11_2B_Live_Comm_E_1-100.html

"If we don't stop for gas soon, then we will run out of gas. If we run out of gas. then we will be late for the wedding. Therefore, if we do
stop for gas soon we will be late for wedding"

17/68



6/13/23, 6:46 PM

11_2B_Live_Comm_E_1-100.html

frafafad gfd § Farere ad & 9w Ued & gedar-g :
g% G 719 WRaM & oY Sed] Tol vl dl GARI 719 We gl e | afg gART 719 W@el g SRt af g0 el & &) 9§ ugai| o,

Al &9 71 HRaT- & Q1Y STl 6] wobl o H RM1El § &% 3 ug=|

. paardd Fuy
wearay gy
CIERIRET
Jae-gfad

S

Al

A2

A3

Ay

4

Objective Question

27 908527 nfatch List I with List IT

LIST I (Hetvabhasa) LIST II{Example)
A |Ashrayasiddha I. |Sound is eternal because 1t 1s audible
B. [Vvaptatvasiddha I [Sky lotus is fragrant because 1t a lotus like the lotus of lakd]
C. |Svaripasiddha IT1. [Wherever there 1s fire there 1z smoke
D. |Asadharana Savyabhicharal IV. [Sound 1s a quality because it 1s visible

Choose the correct answer from the options given below:

1. A-IV. B-1. C-II. D-ITI

2. A-L. B-II. C-IIL. D-IV

3. A-IIL B-II. C-1. D-IV

4. A-II. B-IIL. C-IV. D-I

et 1 p1 gl 11 9 Ferr Siforg

EEil! TE I

BTy IETE0
A s 1. e 2%d ¢ i 98 9 g |

AT ShAT GUTed § i U8

B. [N I ki & woa & T S 2
C [eEutts TI1_[S{€] 3fFTT ¢ 98l Y3 &
D. | ETyRo1 GeatieR | IV, |eaf U 70 € it 9g exa o
Fafeiad faeedi ¥ 9 98l SR &l 9u- ST -

1. A-IV. B-1. C-II. D-III

2. A-L. B-II. C-IIL. D-IV

3. AL B-I1. C-1. D-IV

4. A-I1. B-II1. C-IV. D-I

Al
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A3
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Objective Question

28 908528 | Opserve the following argument and pick the correct answer.
"All pigs are sheep
All sheep are goat
Therefore. all pigs are goats"

A. Awalid argument because if the premises were true the conclusion would have been true.
B. An invalid argument because the conclusion does not follow from the premises.

C. The conclusion is probably true.

D. It is a weak argument.

Choose the correct answer from the options given below:

A only
.B & D only
.C&D only
. D only

frafafaa afda o1 sacian B SR 98l SR &1 9g- B

Tft g3R NS §
Tuft 9S SHRaf g
3 gl YR s iar g

A TF a9 gfaa ¢ Fife afg snuR o 9o 4 o Fre ot wa g
B. U 3{d% gfad ¢ Fifd fsp suR ared 3 el Adaar o

c. frepe dvyaa: Ta Bl

D. 78 U® GHeR I g

- fag e fam el § I el SR &1 907 Sifo -

[

[

A2

A3

A4
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Objective Question

29 908529 Given below are two statements: one is labelled as Assertion A and other is labelled as Reason R
Asgertion A: Atyantabhava is eternal.
Reason R: If a particular thing does not exist in a particular locus at any time. then it is said that there is Atyantabhava of that thing.

In the light of the above statements. Choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

(2]

. Both A and R are true and R is NOT the correct explanation of A
3. Ais true but R 1s false

4, A s false but R 1s true

19 &1 HY fGU U §. T 1@y (Assertion A) & ¥U H i & T G¥RT 3P TRUN (Reason R)F T T

DY A: SGTHIT MY B |
PHRUIR: Tie Bis [GRIY =i ot T0y i ol e w sif&ia 5 721 8. o g8 Tl oa ¢ i sraaryE § 1
SWRIdd Y & SHaid H, = 3T 1Y fapedi § 9 9ad Sugad Sk &1 99 ST

1. ASRREFAI T E AR R AP TEI IS &

A SRR AT AR R, AP G U TS &
AT AfPTR IR TR ®
ATS TSR AfPTR TR ©

R VN ]

Al

A2

A3

Ad

Objective Question

30 1908530/ 'jre is cold because it is a substance' represents which of the following Hetvabhasa?

. Viruddha

. Badhita

. Asiddha

. Savyabhichara

2 =

S Y
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‘34T 331 § Tl g TP 5 §
Te Fafied § 3 SH-11 S gl 82

1. faeg
2. g9
3. 3fg
4, JHHER

Al
A2
A3
A4

Objective Question

31 /908531 Computers have evolved from the early mainframe computers to the relatively small smart devices with high computing power being us
today. Which of the following inventions contributed to reduce the physical size of computers?

1. Vaccum Tubes

2. Transistors

. Integrated Circuits
4. Cathode Ray Tube

FreR] &1 [dam IR B H m&cai@l&ﬁ%%ﬁ;ﬁmﬁwgaﬂ%ﬁﬁﬁqﬁmd I Rk <ifed o1 wanT e
Wu%fﬁaﬁﬁaﬁ@ﬁm%&nﬁwﬁ@mﬁﬁai PR I BICT &1 H ANTEH 381

[F¥]

Tata AT ([des = ey)

[

. TPIFd Ufbe (3T dide)

PUS I

S V)

Al

A2

A3

A4

Objective Question
32 /908532
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Consider two binary numbers P=10110001 and Q=01001110. If X=P or Q and Y=P and Q. then what will be the values of X and Y
respectively?

1.01001110.10110001
2.10110001.00000000
3.10110001.11111111

4.11111111.00000000

fg-3met Tamgi P=10110001 37X Q=01001110 R fGER &1 Ife X=P TT Q 3R v=P 3R Q Il HHW: X 3R Y & HH T &M 2

1.01001110.10110001

2. 10110001.00000000

3.10110001.11111111

4, 11111111.00000000
Al
1
A2,
2
A3
3
Ay
4

Objective Question

33 1908533 Given below are two statements:
Statement I: Using 3D printers, prosthetic limbs can be made to exactly fit the recipient.
Statement II: OLEDs consume more power than LCD/LED formats and thus produce more heat.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

[ BS]

. Both Statement I and Statement II are false

3. Statement I is true but Statement II is false

4, Statement I is false but Statement IT is true
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BHYI: 3 -3 fife?] &1 swra axd Waddl 8 $EE il & faegd fthe &9 3 @ off 96 ¢

aﬁu:rn;aagqgrﬁ‘aﬁw(OLEDS)ﬁqa@?s"r:qaésﬁqﬂﬁﬁﬁw 31T farTalt 1 @O il § 3R 59 TR ¥ S &
IATEA |

SIRITd HYH & AT |, 7 G0 70 fpedi § I 981 S &1 994 Sl

1.1 R 1S 9 §

2. PYTI1 R 1 SH T8
3. PYT19d B, Qb BYTII 3T ©
4 P HTIR. AP PYT I T &

Al
A2
A3

A4

4
Objective Question

34 1908534 Wwhich of the following statements are valid?

A. Providing the personal information of customers stored in a computer to an insurance agent by the vehicle servicing centre is an
issue related to the privacy of customer.

B. Providing a copy of a single-user licensed software to another party is a piracy issue related to the ownership of the software.

C. Unauthorized access to another person's computer is both illegal and unethical.

D. The 'right to use' a piece of software is termed as Copyright

Choose the correct answer from the options given below:

. A& D only
.B & C only
.B & D only
.A.B & Conly

fatfadf er Ao T e

A. %ﬂ;@??ﬁ%—@ﬁﬁ R I Al FE13H DI ATe- Hal g & HIFH | Tl S5 Tole DI UaH BT TR Bl
a2l
B.@ﬂgﬂﬂﬁ@ﬁﬁ&ﬁﬁ%ﬁﬂ?(ﬁiﬁ@ﬁ@ﬁﬂ%@ﬁ@ﬁ@%%ﬁﬁﬁ%%@ﬁa%w
AR
c. [t 3 afea & FrgeR 9% AP 98 33y 3R 3Rfa® aA s gl
D. {8 GieamR &1 3901 334 &1 HPPR vlifrafieR @liREe) Feam gl

+id fau U fasedl O 9§ Hel 3Tk BT 9g- BIfo :

R

1. $ATAIRD
2.%aaAB AR C
3. %adaB AR D
4. FAAA.B IR C
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:Al
A2
A3
A4

Objective Question

35 9083535 \fatch List I with List IT

LIST I (Internet Term)) LIST II (Description)
A. [Browser I. [Protocol that is used to send data for web pages across the internet
B. [HTTPS I, |A text-file (stored by web browser) that contains data about a user's browsing preferenceg
C. [URL I11. |Software that allows users to view web page
D. |[Cookie IV. |A text-based version of a web address

Choose the correct answer from the options given below:

1. A-IL. B-1. C-IV. D-III
2. A-IIL B-IV., C-I. D-II
3. A-L B-IIIL. C-1L. D-IV

4. A-IIL B-1. C-IV. D-II

T
ﬁ?@ i = (R
EISEES

a8 TiCidid foTd] SUANT 0 323-c 0% a4 U]
& faTT sfire W g [dal Sl g

78 <o BIEd (39 STSol gl HaTia)

B. [Ga &1 Ul g8 @TTPS) | I [ForeH ol maivtand! o STafeiT sfftrzfaat

& R H 35S Bld g
C. [4 R T4 (URL) 111 [58 TIveawR g JaRTddl 98 Us 6@ JTdl 6|
D. [paI IV. [d9 Od @1 SRe HTHTRT G50l
FafaRad famedi ¥ 9 el SR &l 99 DI -

1. A-IL. B-1. C-IV. D-III
2. AL B-IV. C-1. D-II
3. A-L. B-III. C-IL. D-IV

4. A-IIL. B-L. C-IV. D-II

Al
A2

A3
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Objective Question

36 |908536|| ;. Quality Index (AQI) is represented in

. Unit of pg/m® (microgram per meter cube)
. Unit of ppm

. Percentage (%)

. Numbers

g TUTa GABIP (0. T H15) PI Wafid a1 o g

O

ug/m? (AT U Ufd Hiexe) 3 g@1s o
. ppm Gl gfﬂ%ff

= (%) §

e

ko=

4

Al

A2

A3

A4

Objective Question

37 908537 |
Given below are two statements:
Statement I: Concentration of Formaldehyde in indoor environment can be thousand times higher than outdoor environment.
Statement IT: Formaldehyde is a known carcinogen.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

2

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I 1s false but Statement I 1s true
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B 1: PR B IR P IR0 § BHICSEI5S BT HigUl HHR & aTex & aldloxyl &I ga-l § iR A1 gidl o

BYF I1: BIHSEIES U T HORo ol
TURIG HYUA & el 0, 143U T fasedi T 9 969 Iuged Sok &1 98 HITIU:

1. BT ARG U &

2. PYT SR 11 G 98l T8l &

3. YT ITel 8. AT YT 1 Tad &
4. FYFITEA L. AT ST I TR §

Al
A2
:A3
A4

Objective Question

38 908538 1) water treatment Aeration is the process which

1. Removes excess and objectionable gases

2. Readjusts the pH of water

3. Removes the large particles of floc from water
4. Removes the solid particles

oTd YA H g1 () T iear & o -

o

1. Jfafved 3R smuftsHe 719 &1 T o g
2. U & pH TF &1 47 9Hfod fear S g1
3. O 8 T8 (Wl) & 93 U &1 R faT wrar |
4. B B &I g a1 F1a1 B

Objective Question
39 /908539
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Which of the following are classified as hazardous substances?

A, Activated substances
B. Ignitable substances
C. Corrosive substances
D. Reactive substances
E. Toxic substances

Choose the correct answer from the options given below:

C.D only
D. E only
D.E only
D.E only

fFafifad ¥ 9§ fs aae verd & w9 3 aiffed fear mr g2

A Tipfag uaref

B. 3gAg g

C. Jem® garef

D. UfafpareTs gard
E. fa83 werd

+id fau U fasedl O 9§ Hel 3Tk BT 9g- BIfo :

A, B.
i A &
cA €,
.A. B,

R

1. $ddA.B.C.D
2. $4dB.C.D.E
3. $adA.C.D.E
4. PAAA.B.D.E

f\l
A2
A3
:A4

Objective Question

40908540/ hat is the limit of water availability for a region to be classified as water-stressed region?

. Less than 1700 m/ person/year
. Less than 2000 m>
. Less than 2300 m>

. Less than 2500 m?/ personvyear

oA @1 Sl aTd fard & @rex 1 o) & FU F arifed [l 87 & o ofa 3t Suasiar & Jia & g2

! person/year
/ person/year

O R

1. 1700 m3 oG/ g A HH
2. 2000 m?/ e/ T H HH
3. 2300 m’/ TG/ T Y HH
4.2500 m3/ SAfGT / aY T HH
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A3
A4

Objective Question
41 908541 = : o , L 3117
Among the following skills, which are considered as soft skills?

A. Decision making
B. Marketing

C. Communication
D. Contflict resolution
E. Leadership

Choose the correct answer from the options given below:

1.B & E only

2.A C&E only
A . C.D&E only
.B & D only

fFrafeie 7 3 [ PI=rl & 7g SR (A% [pa) Pl &l 62

A o=

B. fagu=

C. TaR

D. GdYe gHIU™

E. A g
A1 feu T fooed © § 98l SR &1 994 i -

S

1. %adB AR E

2. %dd A, C 3RE
3. %ddA. C.D 3R E
4. HaAB AR D

Al

A2

A3

A4

Objective Question
42 1908542
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Which of the following are recommendations of the NEP2020 for improving the quality of higher education in India?

A Introduction of National Research Foundation.

B. Accreditation of all higher education institutions

C. Integration of Vocational education into mainstream education.

D. Establishment of National Higher Education Qualification Framwork.

Choose the correct answer from the options given below:

. A& B only
.C & D only
.A.B & Dounly
AB.C&D

Fafaiad o 9 &M YRd I SR e 1 uradr § GUR gq 5 R8T US(d (T 5 U 2020 BT B g2

A Y R

B. T4l S=aR R S=ymi &1y

C. IS R8T S TEIURT e § gHda
D. TP SR [RI&T el SpHadh o RISl

el fau T fasedl § 9 T8l 3R BT 90 Bifo :

L2 =

da Lo

1. $ad AR B
2.%ad C AR D
3. PaTA.BIHRD
4.A.B.C 3RD

fM
fAZ
.A3
:A4

Objective Question

43 908543 {7G(C was established on the recommendation of-

1. University Education Commission
2. Higher Education Commission

3. Ministry of Education

4. Planning Commission

7 off T BT w9 ot i R @t g

1. Tosfaemer Rem smam
2. 3= TRreqm smam

3. TRre darerm

4. IS AR

Al
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4
Objective Question

44 908534 which of the following is incorrect in the light of the effects of the expansion of higher education from the mid 1850s.

A. Curzon's universities reform were a high point in the development of the official attitude towards the spread of higher education.
B. The attempts were part of the wider programme of reforming Indian society and purging out of evils such as zati ete.

C. Two universities in Calcutta and Madras were established in 1857 and colleges became an integrate part of higher education.

D. Only those students were admitted to the colleges who had passed the entrance.

Choose the correct answer from the options given below:

A&B
B&C
C&D
.B&D

fFafaf@d ¥ Ao a¥ 1850 & A0 39 T IR 4T & f9R & UuTal & 3ieie 1 Tad 82,

A. Dol o fayfdeea GUR S el & TER @I foxn § Wer sifighi & fdom 4 te s= fdg ul

B. 3 TR YRGTT THT & YR auT Tt HT oil aR15a1 &1 THTS § X $R- Ga 4l s SRIHH P TP HFT U

c. a¥ 1857 § <l fayfaenay sae aul Gsr 5 RfUd f&U 10 qut geifdenad SR fIeT &7 U SHfiE YR &+ M|
D. TeTiaenad & S faentiial o1 waw fiyen o1 &l yaw oien & Stvl i &

1 f4u T f[dedl O O g1 3R &1 994 Hifoll

a =

Lo

 A3RB
B3RC
.C3RD
.B3RD

B W o =

fM
fAZ
:A3
‘A4

Objective Question
45 1908545
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Given below are two statements:
Statement I: In the Vedic age both men and women had access to education.

Statement IT: Woods Despatch (1854) recognised for the first time that the Government should give 'frank and cordial support' to feamle
eduacation.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement IT is true

TR Py UM E:
PYA 1. AP BT H TN SR At 3 BT R sifvme ot

HU I1; 35 f$204 (1854) T UGl R 9 &1d &1 JI-Id o 75 b IROR & AR a1 & {0 g au1 Asq0 Sgmar HeH
B! FligU|

TR Y & Sl H, i 3T T [dpeti ¥ 3 96 Iuga Sk &1 99 DITU:

1. B AR S e &
2. FYFIAR I SAI AT §
3. YIS AP FUT n Tad 8
4. FYFITAd 8. AfpT YT 1 81 8

Al

A2

A3

A4

Objective Question
46 908546
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Read the passage and answer the questions that follow:

Violence against women comes in many forms and from various sources. One that is not highlighted enough is the violence they face
from their birth family or natal kin-parents, siblings or close relatives. New Delhi based non-governmental organisation (NGO) Shakti
Shalini recently brought out an incisive report, Unkahi-the Unspoken. documenting the rise of violence against women from natal
families during the pandemic.

Normally, the natal family is the one a woman turns to for help. but during the pandemie, staying at home did not always mean staying
safe for many women. A woman complaining about violence from a partner is more easily believable than one who makes such a
allegations against her family conditioned as we are to the concept that elders and immediate kin offer protection and physical and
emotional safety. So. to name and shame them is not easy.

Shakti Shalini's study was based on women who approached the NGO for help during the pandemic and encompassed those between 18
and 27 years, with 65% of them belonging to the 22-27 age group. A majority of these women belong to the working and lower middle
classes.

Media reports during the pandemic highlighted the increase in the incidence of marital violence, but single women living with their natal
families had similar experiences. The honorary secretary of Shakti Shalini, says,"Natal family violence is a phenomenon which is
structurally based in our society and therefore. needs a structural approach. Though our society lays a claim on the integrity of "family as
a cohesive unit', it equally needs to be accepted that family is as much an environment of abuse of its vulnerable members especially
girls and women,”

The women spoke of abusive and coercive behaviour from their natal families and all of them reported emotional abuse and
psychological trauma. Fifteen out of 20 women in the study faced physical and verbal violence that included being slapped. Three
women reported physical abuse while one was threatened with forced marriage. In terms of the identity of the person who caused harm.
in 60% of the cases, it was both male and female relatives.

In the passage 'natal kin' refers to

A Stranger

B. Parents

C. Neighbours

D. Close relatives

E. Brother and Sister

Choose the correct answer from the options given below:

.A.B & D only
.C.D & E only
.B.D & E only
.A.B & E only

A
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Read the passage and answer the questions that follow:

Violence against women comes in many forms and from various sources. One that is not highlighted enough is the violence they face
from their birth family or natal kin-parents, siblings or close relatives. New Delhi based non-governmental organisation (NGO) Shakti
Shalini recently brought out an incisive report, Unkahi-the Unspoken. documenting the rise of violence against women from natal
families during the pandemic.

Normally, the natal family is the one a woman turns to for help. but during the pandemie, staying at home did not always mean staying
safe for many women. A woman complaining about violence from a partner is more easily believable than one who makes such a
allegations against her family conditioned as we are to the concept that elders and immediate kin offer protection and physical and
emotional safety. So. to name and shame them is not easy.

Shakti Shalini's study was based on women who approached the NGO for help during the pandemic and encompassed those between 18
and 27 years, with 65% of them belonging to the 22-27 age group. A majority of these women belong to the working and lower middle
classes.

Media reports during the pandemic highlighted the increase in the incidence of marital violence, but single women living with their natal
families had similar experiences. The honorary secretary of Shakti Shalini, says,"Natal family violence is a phenomenon which is
structurally based in our society and therefore. needs a structural approach. Though our society lays a claim on the integrity of "family as
a cohesive unit', it equally needs to be accepted that family is as much an environment of abuse of its vulnerable members especially
girls and women,”

The women spoke of abusive and coercive behaviour from their natal families and all of them reported emotional abuse and
psychological trauma. Fifteen out of 20 women in the study faced physical and verbal violence that included being slapped. Three
women reported physical abuse while one was threatened with forced marriage. In terms of the identity of the person who caused harm.
in 60% of the cases, it was both male and female relatives.

Shakti Shalini is

. A Government Organization

. A Trust

. A Research Institute

. A Non-Governmental Organization
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Objective Question

48 908548 Read the passage and answer the questions that follow:

Violence against women comes in many forms and from various sources. One that is not highlighted enough is the violence they face
from their birth family or natal kin-parents, siblings or close relatives. New Delhi based non-governmental organisation (NGO) Shakti
Shalini recently brought out an incisive report, Unkahi-the Unspoken. documenting the rise of violence against women from natal
families during the pandemic.

Normally, the natal family is the one a woman turns to for help. but during the pandemic. staying at home did not always mean staying
safe for many women. A woman complaining about violence from a partner is more easily believable than one who makes such a
allegations against her family conditioned as we are to the concept that elders and immediate kin offer protection and physical and
emotional safety. So. to name and shame them is not easy.

Shakti Shalini's study was based on women who approached the NGO for help during the pandemic and encompassed those between 18
and 27 years. with 65% of them belonging to the 22-27 age group. A majority of these women belong to the working and lower middle
classes.

Media reports during the pandemic highlighted the mcrease in the incidence of marital violence. but single women living with their natal
families had similar experiences. The honorary secretary of Shakti Shalini, says,"Natal family violence is a phenomenon which is
structurally based in our society and therefore. needs a structural approach. Though our society lays a claim on the integrity of 'family as
a cohesive unit'. it equally needs to be accepted that family is as much an environment of abuse of its vulnerable members especially
girls and women,”

The women spoke of abusive and coercive behaviour from their natal families and all of them reported emotional abuse and
psychological trauma. Fifteen out of 20 women in the study faced physical and verbal violence that included being slapped. Three
women reported physical abuse while one was threatened with forced marriage. In terms of the identity of the person who caused harm.,
in 60% of the cases, it was both male and female relatives.

All statements related to Shakti Shalini study are true except

. It was based on violence against women from natal families during the pandemic.
. It was the result of women approaching Shakti Shalini for help.

. It concluded that 75% women faced physical and verbal violence.

. It found that person responsible for violence were only men.

e P A
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Read the passage and answer the questions that follow:

Violence against women comes in many forms and from various sources. One that is not highlighted enough is the violence they face
from their birth family or natal kin-parents, siblings or close relatives. New Delhi based non-governmental organisation (NGO) Shakti
Shalini recently brought out an incisive report, Unkahi-the Unspoken. documenting the rise of violence against women from natal
families during the pandemic.

Normally, the natal family is the one a woman turns to for help. but during the pandemie, staying at home did not always mean staying
safe for many women. A woman complaining about violence from a partner is more easily believable than one who makes such a
allegations against her family conditioned as we are to the concept that elders and immediate kin offer protection and physical and
emotional safety. So. to name and shame them is not easy.

Shakti Shalini's study was based on women who approached the NGO for help during the pandemic and encompassed those between 18
and 27 years, with 65% of them belonging to the 22-27 age group. A majority of these women belong to the working and lower middle
classes.

Media reports during the pandemic highlighted the increase in the incidence of marital violence, but single women living with their natal
tamilies had similar experiences.The honorary secretary of Shakti Shalini, says."Natal family violence is a phenomenon which is
structurally based in our society and therefore, needs a structural approach. Though our society lays a claim on the integrity of "family as
a cohesive unit', it equally needs to be accepted that family is as much an environment of abuse of its vulnerable members especially
girls and women.”

The women spoke of abusive and coercive behaviour from their natal families and all of them reported emotional abuse and
psychological trauma. Fifteen out of 20 women in the study faced physical and verbal violence that included being slapped. Three
women reported physical abuse while one was threatened with forced marriage. In terms of the identity of the person who caused harm.
in 60% of the cases, it was both male and female relatives.

Given below are two statements:
Statement |: The majority of women in Shakti Shalini study belonged to the working and lower middle classes.
Statement ll: Women are protected in their natal families.

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2

. Both Statement | and Statement Il are false
. Statement | is true but Statement |l is false

5
4, Statement | is false but Statement Il is true
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Read the passage and answer the questions that follow:

Violence against women comes in many forms and from various sources. One that is not highlighted enough is the violence they face
from their birth family or natal kin-parents, siblings or close relatives. New Delhi based non-governmental organisation (NGO) Shakti
Shalini recently brought out an incisive report, Unkahi-the Unspoken. documenting the rise of violence against women from natal
families during the pandemic.

Normally, the natal family is the one a woman turns to for help. but during the pandemie, staying at home did not always mean staying
safe for many women. A woman complaining about violence from a partner is more easily believable than one who makes such a
allegations against her family conditioned as we are to the concept that elders and immediate kin offer protection and physical and
emotional safety. So. to name and shame them is not easy.

Shakti Shalini's study was based on women who approached the NGO for help during the pandemic and encompassed those between 18
and 27 years, with 65% of them belonging to the 22-27 age group. A majority of these women belong to the working and lower middle
classes.

Media reports during the pandemic highlighted the increase in the incidence of marital violence, but single women living with their natal
tamilies had similar experiences. The honorary secretary of Shakti Shalini, says."Natal family violence is a phenomenon which is
structurally based in our society and therefore, needs a structural approach. Though our society lays a claim on the integrity of "family as
a cohesive unit', it equally needs to be accepted that family is as much an environment of abuse of its vulnerable members especially
girls and women.”

The women spoke of abusive and coercive behaviour from their natal families and all of them reported emotional abuse and
psychological trauma. Fifteen out of 20 women in the study faced physical and verbal violence that included being slapped. Three
women reported physical abuse while one was threatened with forced marriage. In terms of the identity of the person who caused harm.
in 60% of the cases, it was both male and female relatives.

Natal family violence is difficult to believe in because

A. The family is seen as a cohesive unit.

B. Women turn to the natal family for help.

C. It is believed that elders and kin offer emotional and physical safety.
D. Naming and shaming the natal family is easy.

E. Women in the family support them.

Choose the correct answer from the options given below:

.A.D & E only
.B & C only

.A.B & C only
.B., D & E only

S O
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Objective Question

S1 908551 Which of the following economiic narratives relates the trade between any two countries to the sign of their economies?

. Phillips Curve
. Fisher effect

3. Gravity model
4. Kuznets Curve
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Objective Question

52 11908552 Brewing financial stress endangering economice stability in developed economics is the immediate consequence of which of the followin

. Fiscal indispline

. Rising price level

. Over leverage

4. Increased interest rates
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Objective Question

33 908553 pyblished by the UNDP, the HDI is summary measure of human development. It measures the average achievements of a country in thre

basie dimensions of human development and include the following.

. Standard of living, Income and Occupation
. Education. Occupation and Health

. Health. Education and Standard of living
4. Poverty. Health and Standard of living
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Objective Question

54 908554/ o T Kearmey foreign Policy Globalization Index (2007) is a comprehensive framework to measure globalisation. It is based in 12
variables. grouped into which the following four baskets?

1. Economic integration, Political integration, Knowledge Integration, Social Integration

2. Personal Integration, Technological integration. Economic integration, Political integration

. Social integration, Political integration. Personal integration, Technological Integration

4. Knowledge integration, Economic integration. Political integration Technological integration
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Objective Question

35 908355 \Which one of the below mentioned transaction is not a non-cash transaction?

. The acquision of assets by assuming directly related liabilities
. Conversion of debt into equity

. Interest on dividend received from investing activities

. The acquisition of an enterprise by means of issue of share
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Objective Question

56 908556 : : . s s : . :
In a situation where the holding and subsidiary companies own shares in each other is known as-

. Partly owned subsidiary

. Cross holding

. Subsidiary company

. Wholly owned subsidiary
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Objective Question

37 908557 p R and M are Partners in a firm. They shared profit and losses in the ratio of 3:2:1. On st April, R retired. The goodwill of the firm wa

valued at two years purchase based on the average of last three years profits. The Profits of the last three year were as under:

2020-21 Profit Rs 2,48.000
2021-22 Loss Rs 36.000
2022-23 Profit Rs 1.48.000

It was decided that share of goodwill be adjusted in the capital Accounts of P and M. What will be the amount of Goodwill of P and M?

1. Rs 40,000. Rs 60,000
2. Rs 30.000. Rs 50.000
3. Rs 30.000. Rs 60.000
4. Rs 40.000. Rs 70.000
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Objective Question

58 |1908558 According to which concept, the life of the business is divided into appropriate segments for studying the results shown by the business
each of the segment?

1. Periodic Matching Cost and Revenue Concept
2. Dual Aspect Concept

3. Accounting Period Coneept

4. Money Measurement Concept

[P SAYURUN & STHR UaHd B GHUGIY YD HRRGS! & FaH & YRUIH (dile) W1 ST S D [0 THUGE DI
H e ot 9 8-

1. HIaiYeE o anTd SR ST HehedH
2. Y 9efig Yaeg

3. TR 3Aafe YehedHT

4. Y H19q b og-T
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A4

4

Objective Question
59 908559
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Which of the following notions objectivity define an industry?

1. Homogeneity of products

2. High cross price elasticity of demand
3. Use and consumption pattern

4. Convention and market practices

fFofiRad o1 It srayron fodt S 1 avgrd =P 9 oRyIfRd Bt 82

1. 3dT&l B THE=dl

2. G &1 3= uid Biad o
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S V)

Al

A2

A3

A4

Objective Question

60 1908360 1) order to protect domestic industries, trade restrictions are often been allowed and justified to counteract which of the following

dumping practices?

. Persistant dumping
. Predatory dumping
. Sporading dumping
. Reverse dumping
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Objective Question
61 1908561

file:///C:/Users/Administrator/Downloads/11_2B_Live_Comm_E/11_2B_Live_Comm_E_1-100.html 45/68



6/13/23, 6:46 PM 11_2B_Live_Comm_E_1-100.html

Based on the relationship between marginal revenue product (MRP) and marginal resource cost (MRC). when it pays for the firm to
expand the use of variable factor input?

.MRP > MRC
. MRP < MRC
. MRP = MRC

4. MRP = MRC=1
7T Wod FTE (UF 3R U SR S = anTd (@F R ) & 99 96y & g uRedere ora & yan J ofs fa
AU & U S ATHSTIS Bidl 87

(FVR S

1. MRP = MRC
2. MRP < MRC
3. MRP =MRC
4.

Al
A2
A3
A4

Objective Question

621908562/ \When technology allows many firms to operate efficiently in the markets, which market structure represents a better use of society's

resources”?

1. Perfect competition

2. Monopoly

3. Monopolistic Competition
4. Oligopoly

od U] 3! Hufdl & 9ok 8 Radrddd Sd1ad eg S (i) Il 3. d Fefifad -8 aeR IRe1 991 3
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63 |P08363)| o company's stock sells for T 63. The company pays annual dividend of 3 per share and has long established record of increasing its

dividend by a context 5 % annually. For this company, the cost of equity ( Ke) is

1.13%
2. 14%

3.10%

4. 8%

ot o1t TR 2 63 H ST 8 | DU AP =9 T UORTR (3) 3 TTU BT AU 31T Pl ¢ 3R 59D AMNG T H 5 %
AU 1 &7 BT RUT RPTS 5181 S U1 & 5t (Ke) I AR (D) © -

. 13%
. 14%
. 10%
. 8%

R R

fxl
A2
A3
A4

Objective Question

64 1908564 Which one of the following is an operational technique of hedging transaction exposure.

. Hedging through money market

. Hedging through forward

3. Hedging through swap

4. Hedging through leading & lagging

Fafafad S oH te wftrev YagaeRr o= (et e uiae wiafd g2

b =

1. G&1 9161 & H1e9H 9 WicRef0r

2. 9T & T1eEy 9 wioreo

3. 34U &A1Y T yioRem

4, SEUYITE (SIS US W) & Aregn § WioReor
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Objective Question
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The adjusted present value model used by MNCs to evaluate capital budgeting decision is based on

1. Gresham's principle

2. Value additivity approach

3. Law of one price

4. Multilateral Netting approach
T T W Fufal gR1 Ooit St Huial & GeamTe oq Wa (9] S aTal SaTd auH Jed Bled Hariad o I
3R 82

1. 939 &1 Fgid

2. O ge-Igd Uiy

3. Uod $19d %1 g9

4. 9gUaiy dEg (@fdm) Sure

Al
1
A2 5
2

A3 3
3
Ay
4

Objective Question

66 908566 The dividend-irrelevance theory of Miller and Modigliani depends on which one of the following relationships between investment polic
and dividend policy.

. Since dividend policy is irrelevant. there is no relationship between investment policy and dividend policy
. The level of investment does not influence or matter to the dividend decision

. Once dividend policy is set, the investment decision are residuals

. The investment policy is set ahead of time and not altered by change in dividend policy

foreR SR HIETar o1 arH surifiedr fagia Faw ifg sk e ifd & o= Fefated 5 3 fom Sedi R ewar g

R
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3. U gR @R i & o0 8 9F R o g ol safm i €
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Objective Question
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is a most useful type of non probability sampling method when individuals with the desired characteristics experience or
attitudes are difficult to identify or reach.

1. Purposive Sampling
2. Convenience Sampling
3. Snowball Sampling
4. Quota Sampling

Sufard Hfreafoe o, 3rgyal riar ifHgi Wi gad afaqal 1 Ug= -1 3Ydl 3 0% Ugd Hid 8- &I a2 H :
e d ufaaa- faftl &1 1 aifvs ST ueR 8|

1. e gyl vferea
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3. Fiard ufogaA

4. iel (Fradmn yfagaH

Al
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Objective Question

68 1908368 Which of the following non-parametric test has no correrpanding parametric test?

. Sparman rank correlation test

. Kruskal Wallir test

3. Mann-Whitney test

4. Ward-Walfowitz one sample runs test

o & -9 TR wrafte aieor ivd (=) Wrafts S&r 98] glar g2

b =

TR ¥ HEgey TRiam
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Objective Question
69 1908569
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The coefficient of variation for a Poisson distribution with A(mean)=35 is

. 31.1 percent
. 44.7 percent
. 35.2 percent
4. 58.9 percent

). (FTEH) =5 9TQ forlt wTga sfe- PRI &1 [UId ST ¢ -

LT e R

ol s
7S]
]

Al

A2

A3

A4

Objective Question

70 908570 Ope factor Analysis of Variance (ANOVA)

. 18 a perfect generalization of the t-test for paired observations.

. requires that the number of observations in each group be identical

. has less power when the number observations in each group is not identical
. 18 extremally sensitive to slight departure from normality
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Objective Question
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Objective Question

S1 908551 Which of the following economiic narratives relates the trade between any two countries to the sign of their economies?

. Phillips Curve
. Fisher effect

3. Gravity model
4. Kuznets Curve
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Objective Question

52 11908552 Brewing financial stress endangering economice stability in developed economics is the immediate consequence of which of the followin

. Fiscal indispline

. Rising price level

. Over leverage

4. Increased interest rates
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Objective Question

33 908553 pyblished by the UNDP, the HDI is summary measure of human development. It measures the average achievements of a country in thre

basie dimensions of human development and include the following.

. Standard of living, Income and Occupation
. Education. Occupation and Health

. Health. Education and Standard of living
4. Poverty. Health and Standard of living
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Objective Question

54 908554/ o T Kearmey foreign Policy Globalization Index (2007) is a comprehensive framework to measure globalisation. It is based in 12
variables. grouped into which the following four baskets?

1. Economic integration, Political integration, Knowledge Integration, Social Integration

2. Personal Integration, Technological integration. Economic integration, Political integration

. Social integration, Political integration. Personal integration, Technological Integration

4. Knowledge integration, Economic integration. Political integration Technological integration

U &1 Tl (GemT -ifd afievur gaaie (2007) 4R & HIUA 5 UP A1UP S0l ¢ 96 12 TR 9Hp! W 31YUIRG ¢ o &
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Objective Question

35 908355 \Which one of the below mentioned transaction is not a non-cash transaction?

. The acquision of assets by assuming directly related liabilities
. Conversion of debt into equity

. Interest on dividend received from investing activities

. The acquisition of an enterprise by means of issue of share
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Objective Question

56 908556 : : . s s : . :
In a situation where the holding and subsidiary companies own shares in each other is known as-

. Partly owned subsidiary

. Cross holding

. Subsidiary company

. Wholly owned subsidiary
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Objective Question

37 908557 p R and M are Partners in a firm. They shared profit and losses in the ratio of 3:2:1. On st April, R retired. The goodwill of the firm wa

valued at two years purchase based on the average of last three years profits. The Profits of the last three year were as under:

2020-21 Profit Rs 2,48.000
2021-22 Loss Rs 36.000
2022-23 Profit Rs 1.48.000

It was decided that share of goodwill be adjusted in the capital Accounts of P and M. What will be the amount of Goodwill of P and M?

1. Rs 40,000. Rs 60,000
2. Rs 30.000. Rs 50.000
3. Rs 30.000. Rs 60.000
4. Rs 40.000. Rs 70.000
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Objective Question

58 |1908558 According to which concept, the life of the business is divided into appropriate segments for studying the results shown by the business
each of the segment?

1. Periodic Matching Cost and Revenue Concept
2. Dual Aspect Concept

3. Accounting Period Coneept

4. Money Measurement Concept

[P SAYURUN & STHR UaHd B GHUGIY YD HRRGS! & FaH & YRUIH (dile) W1 ST S D [0 THUGE DI
H e ot 9 8-

1. HIaiYeE o anTd SR ST HehedH
2. Y 9efig Yaeg

3. TR 3Aafe YehedHT

4. Y H19q b og-T

Al

A2
A3

A4

4

Objective Question
59 908559
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Which of the following notions objectivity define an industry?

1. Homogeneity of products

2. High cross price elasticity of demand
3. Use and consumption pattern

4. Convention and market practices
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Objective Question

60 1908360 1) order to protect domestic industries, trade restrictions are often been allowed and justified to counteract which of the following

dumping practices?

. Persistant dumping
. Predatory dumping
. Sporading dumping
. Reverse dumping
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Objective Question
61 1908561
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Based on the relationship between marginal revenue product (MRP) and marginal resource cost (MRC). when it pays for the firm to
expand the use of variable factor input?

.MRP > MRC
. MRP < MRC
. MRP = MRC

4. MRP = MRC=1
7T Wod FTE (UF 3R U SR S = anTd (@F R ) & 99 96y & g uRedere ora & yan J ofs fa
AU & U S ATHSTIS Bidl 87

(FVR S

1. MRP = MRC
2. MRP < MRC
3. MRP =MRC
4.

Al
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A4

Objective Question

621908562/ \When technology allows many firms to operate efficiently in the markets, which market structure represents a better use of society's

resources”?

1. Perfect competition

2. Monopoly

3. Monopolistic Competition
4. Oligopoly
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Objective Question
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63 |P08363)| o company's stock sells for T 63. The company pays annual dividend of 3 per share and has long established record of increasing its

dividend by a context 5 % annually. For this company, the cost of equity ( Ke) is

1.13%
2. 14%

3.10%

4. 8%

ot o1t TR 2 63 H ST 8 | DU AP =9 T UORTR (3) 3 TTU BT AU 31T Pl ¢ 3R 59D AMNG T H 5 %
AU 1 &7 BT RUT RPTS 5181 S U1 & 5t (Ke) I AR (D) © -
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. 10%
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Objective Question

64 1908564 Which one of the following is an operational technique of hedging transaction exposure.

. Hedging through money market

. Hedging through forward

3. Hedging through swap

4. Hedging through leading & lagging
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Objective Question
65 1908565
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The adjusted present value model used by MNCs to evaluate capital budgeting decision is based on

1. Gresham's principle

2. Value additivity approach

3. Law of one price

4. Multilateral Netting approach
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Objective Question

66 908566 The dividend-irrelevance theory of Miller and Modigliani depends on which one of the following relationships between investment polic
and dividend policy.

. Since dividend policy is irrelevant. there is no relationship between investment policy and dividend policy
. The level of investment does not influence or matter to the dividend decision

. Once dividend policy is set, the investment decision are residuals

. The investment policy is set ahead of time and not altered by change in dividend policy

foreR SR HIETar o1 arH surifiedr fagia Faw ifg sk e ifd & o= Fefated 5 3 fom Sedi R ewar g

R

1. Ffep e i s § FHaw Hifa ok @i Ao & de o v 7

2. F99 & TR 1 anviw Se e FAofg & fow s are e <@

3. U gR @R i & o0 8 9F R o g ol safm i €

4. Fro= Hifd o 9 gd a0 g o § SR i fifa & aRads @ 59 s afkad Aol gl gl

ALy
1
A2 5
2
A3 3
3

Ay
4
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is a most useful type of non probability sampling method when individuals with the desired characteristics experience or
attitudes are difficult to identify or reach.

1. Purposive Sampling
2. Convenience Sampling
3. Snowball Sampling
4. Quota Sampling
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Objective Question

68 1908368 Which of the following non-parametric test has no correrpanding parametric test?

. Sparman rank correlation test

. Kruskal Wallir test

3. Mann-Whitney test

4. Ward-Walfowitz one sample runs test
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The coefficient of variation for a Poisson distribution with A(mean)=35 is

. 31.1 percent
. 44.7 percent
. 35.2 percent
4. 58.9 percent
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Objective Question

70 908570 Ope factor Analysis of Variance (ANOVA)

. 18 a perfect generalization of the t-test for paired observations.

. requires that the number of observations in each group be identical

. has less power when the number observations in each group is not identical
. 18 extremally sensitive to slight departure from normality
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Blake and Morten recognise four leadership styles. One of them 1s the autocratic task management style. The autocratic task manager 13
one who-

1. Coneern themselves very little with either people or production and have minimum involvement in their jobs.
2. Display in their actions, the highest possible dedication both to people and to production.

3. are concerned only with developing an efficient operation who have little or no concern for people

4. have little or no concern for production but are concerned only for people
=D
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Objective Question

72 908572 Frederic W. Taylor is acknowledged as the father of scientific management. What is his major contribution to management.

Theory of burecaucracy

Identified characteristics of companies he considered excellent

Application of psychology to industry and management

How to raise productivity through greater efficiency in production and increased pay for workers
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Maslow's Hierarchy of Heeds depicts human needs in the form of hierarchy ascending from the lowest to highest need. The correct orde:
is.

1. Esteem needs, Acceptance needs. Safety needs. Physiological needs, Need for Self-Actualisation
2. Physiological Needs. Safety needs. Acceptance needs, Need for Self-Actualisation

3. Safety needs. Esteem needs. Need for Self-Actualisation, Physiological Needs, Acceptance Needs
4. Physiological needs, Acceptance needs. Safety needs, Need for Self-Actualisation, Esteem Needs
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Objective Question

74 908574 Matrix structure is the realisation of two dimensional structure which emanates directly from two dimensions of authority. From which ¢
the two. a is martix structure is created?

1. Functional and divisional
2. Functional and project

. Functional and line

4. Divisional and line
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75908575 Which one of the following is concerned with Endowment Policy?

—t

. The issuer has advantage of receiving money at regular intervals of the policy with a specific sum of money at the expiry of the
policy

. At the expiry of the policy. the insured receives the sum of insurance policy

. It covers the insured for the whole life. His nominee receives the assured sum with bonus after the death of insured

. The premium cost is high. If the insurer dies, the nominee recerves the insurance amount
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Objective Question

76 1908576 Which one of the following subsidiary is not owned by the Reserve Bank of India.

. National Housing Bank (NHB)

. Industrial Development Finance Corporation (IDFC)

. National Bank for Agriculture and Rural Development (NABARD)

. Deposit Insurance and Credit Guarantee Corporations of India (DICGC)
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The coexistence and cooperation between the formal and informed finaneial sector is commonly referred to as:

. Flexibility of operation

. Financial dualism

Well regulated financial system

. Catering the financial needs of modern economy
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Objective Question

8 908578 : . . . :
7 78 As the economy weakens, one would expect investment in funds to increase and investment in funds to decrease

1. long term : short term

2. equity : bond

3. money market mutual : equity

4. municipal bonds: money market mutual funds
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One of the key assumptions of the Boston Consulting Group Growth Share Martix is

. Cash flow can be equated with profitability.

. Market share has a positive effect on cash flow as profits are related to market share.
. Market share acts as a proxy to competitive strength.

. Market growth rate cannot be used as a proxy to market attractiveness.
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Objective Question

80 908580 : : . " . ——
Post-purchase consumers invariably experience cognitive dissonance which is referred to as-

. A feeling of happiness with the purchase

. Getting angry with the firm

A feeling of uncertainty about making the right decision
. A state of extreme satisfaction
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The Model for Budget or "No frills" airlines was first developed in the USA by Southwest Airlines in the 1970s. The premise of this
budget airline was to get passangers to their destination for less with an "adequate” level of service. This highly successtul model has
since been copied by airlines all over the world. The competitive advantage of budget airlines arises from the following.

. Sound Positioning

. Maintaining low operating costs while increasing revenue

. Effective market segmentation & Targetting

. Aggressive advertising
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Objective Question

82 |1P08582 are the moral principles and values that guide behavior within the field of marketing and cover issues such as product safety.

truthfulness in marketing, communication, honesty in relationships with customers distributors. pricing issue and the impact of marketin
decisions on the environment and society.

1. Sustainable practices
2. Marketing ethics
3. Positioning principles
4. Corporate social responsibility
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Objective Question

83 908583 1 the 'Category F' which companies are classified by the SEBI?

. Existing listed companies that are making a public issue
. New companies with less than 12 months in operation

. Companies having a good track record of profit

. Privately held companies
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Objective Question

84 1908584 which of the following is not an essential characteristic of negotiable instrument?

. Sells little to a bonafide transferor for value.

. Flexibility in transfer

. Easy negotiability

. Transferor can sue in own name without giving notice to the debtor.
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Objective Question

85 908585 Some bottles of soft drink were supplied by X to Y. Y got injured due to busting of one of the bottles. Y claimed damages from X due to

. Condition as to fitness as quality

. Condition as to wholesomeness

. Condition as to merchatability

. Condition in a sale by description
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86 908586 A business has been discontinued in the previous year 2021-22. The business loss.

. Can be carried forward and set off against profit gain of business and profession

. Can be set-off against income from business or profession or income under any other head

. Can be carried forward and set off for indefinite period. whether business is carried or discontinued
. Can be carried forward and set of for six years, whether business is carried or discontinued
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Objective Question

87 1908587 The employer has provided the facility of a 1.8 litre (c.c) car. The car is used for private purposes also and all the expenses including the
driver salary are borne by the employer. The expenses of employer during the previous year amounted to Rs 60.000 and the employer hs
recovered Rs 1000 per month from the employee for this facility. What amount per year shall be reduced by the employer from actual
amount of expenditure.

32,400
. 16.800
. 39,600
4.21.600
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Objective Question

88 908588 pipy Money' is used for

. Receipt on account of Dharmshala, Goshala ete.
. Women gets from her husband certain amount

3. Income of non-residents from shipping business
4, Income from building used for agriculture
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Objective Question

891908589 When no liability for payment of tax in advance arise by an assesses on his income if tax payable is

. Less than 10.000
. Less than 50.000
. Less than 5.00,000
. Less than 7.50.000
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Objective Question

90 1908590 Eour schedule have seen added at the end of the Limited Liability Partnership (LLP) Act. the second schedule entertains which one of th

following?

1. Provisions to conversion from private company into limited liability partnership

2. Provisions regarding matters to mutual rights and duties of partners and limited liability partnership and its partners applicable in tl
absence of any agreement on such matters

3. Provisions relating to conversion of a firm into limited liability partnership

4. Provisions for conversion from unlisted public company into limited liability partnership
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Objective Question

908591 Which of the following drive growth of international business in digitally interconnected world?

A. Strong consumption in global south

B. Dynamic exchange, interest and inflation rates

C. Formation of trade promoting regional groups

D. Regulated capital and portfolio flows

E. Demographic dividend and low cost manufacturing

Choose the most appropriate from the options given below:

. A.Band Conly
.C.D and E only
.B.D and E only
. A, CandE only
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The problem of persistent current account deficit can be avoided by pursuing which of the following polices?

A. Encouraging Savings

B. Controlling fizeal deficit

C. Devaluation of the domestic currency

D. Curtailing productivity

E. Reduced dependence in costly external commercial borrowings

Choose the correct answer from the options given below:

R
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Objective Question

93 1908593 The potential benefit of FDI to host countries include which of the following:

A. Access to superior technology and increased competition
B. Employment generation

C. Increase in domestic investments

D. Bridging host countries foreign exchange gaps

E. Reduction in income inequality

Choose the correct answer from the options given below:

R

file:///C:/Users/Administrator/Downloads/11_2B_Live_Comm_E/11_2B_Live_Comm_E_1-100.html 62/68



6/13/23, 6:46 PM 11_2B_Live_Comm_E_1-100.html

3RS ST & forg U €t 28 & Wwreg ari | Fafefad o1 3 gifed 2 od 82

A. 3@V UEIie do Ugd SR a¢1 g8 wiawef

B. JGATR ol

c. R Faudgig

D. 3l ¥ & fa¢eit fafmg siarral & 0wy 9q &1 1 S
E. 3119 3gHHar § St

1= 4T U fa e § 9 U8l 9Tk 31 994 By ;

1.%ad B, D, E
2. A A.B.E
3.%dd C,E.D
4. %dd A, C,D

Al
A2
A3

Ay

4
Objective Question

94 1908594 which of the following enumerates the distinctive features of Management Audit?

A Tt is an appraisal of both policies and actions

B. It is preventive as well as creative check of cost accounting data

C. It is organisation oriented

D. It is dynamic and result oriented rather than simply procedure bound
E. It ensures the sound and healthy growth of business organisation

Choose the correct answer from the options given below:

.A.B.D only
. A, C.E only
.B.D.E only
.A.D.E only

e v oiaT SR 1 fafRry faRiared ®1 fad=r oRd €2

A. T8 Hifqat ik o1 <4 1 gegie §

B. 78 GNd AaidA Gael s @1 HaR® IR go-ied® &id §

C. Tg GeT ST §

D. U8 $ad Uihdl 85 811 &1 auld T (GRad-<ie) 3R gRomd=1d! &
E. 599 SAaIa® 164 &1 819 3R W fowra gffgdgiare

1= 4T T fasedl § 9 el 9TR 31 994 Pifoy ;

O

1.%dd A.B.D
2. A A, C.E
3. %dd B, D.E
4. PaA A, D.E

Al
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Ay
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Objective Question
95 |P08595)| o company can issue shares at a discount subject to which of the following conditions?

A. Two year must have passed since the date at which the company was allowed to commence business
B. The shares to be issued must be of a class already issued

C. Issue must take place within three month after the date of the CLB approval

D. Issue of shares must be authorised by an ordinary resolution of the company

E. Resolution must specify the maximum rate of discount

Choose the correct answer from the options given below:

.A.B. Conly
.B. C.D only
.B.D.E only
.C.D.E only

Pig Bl FEfifad wdf & s 981 IR IR 9K &R 9ad &

A HYH GRI TGIE R FRA D [ 3T ST 9 31 IR 9 & 79 S 999 &t o1 91ey
B. IR} [0 ST aTel TR Ugd gl it 907 & 8 =ey

C. T Ta d B 3 B AR I F T & 1R R sifFarda: Feffta g ke

D. I0R1 &1 fi0 SfFarfadami & R &l gRT e g1 9oy

E. S B 3fFaid: 88 @1 fead & 31 3ead ol 9Iiey

+id fau U fasedl O 9§ Hel 3Tk BT 9g- BIfo :

R

1. $aT A, B, C
2. %40 B.C.D
3. %40 B.D.E
4. HddC,D.E

Al

A2

A3

A4

Objective Question
96 1908596
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Which of the following shapes are used to describe the long-run average cost curve?

A. S-shape
B. L-ghape
C. V-shape
D. U-ghape
E. W-shape

Choose the correct answer from the options given below:

A and B only
. B and D only
. Cand E only
C and D only

frafafad o 9 srefaal &1 i dderfae i arTd a% &1 auf- ®<- J gidl 82

A, S-3TPIT
B. L-3TPfd
C. V-3Ppfd
D. U-3Pfd
E. W-3Tdid

i feu U fadedl § 9§ Hel 3Tk B 9g- SDIfo

R

1. Pad A NRB
2.%gd B IR D
3.%49d C 3R E
4.%ad C 3ARD

Al

A2

A3

A4

Objective Question

o7 |P08397)| & price ceiling below the equilibrium price leads to

A. Black marketing

B. Shortage of commodity
C. Surplus of the commodity
D. Hoarding of commodity
E. Increased in consumption

Choose the most appropriate from the options given below:

A, B. and C only
. C.D and E only
. A.Band D only
.B.D and E only

[

S ¥
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e (G) S T = 9T S=ad T (@) 59 ok IR 3-

A. DT TSR]

B. O%] I &l

C. OF] Bl AN

D. 9%] &I SHRGR] (E90)
E. SUHM A gfg

1= 4T U fa e § 9 U8l 9Tk 31 994 By ;

1. FEA A, B. 3R C
2.%dd C,D 3RE
3. $ad A, B3RD
4. %adAB, D ARE

Al
A2
A3

Ay

4
Objective Question

98 1908598/ wWhich of the following elements cause problem in application of internal rate of return method while evaluating mutually exclusive
projects?

A, Discount rate
B. Timing

C. Scale

D. Reversing flow
E. Leverage

Choose the correct answer from the options given below:

1. A, B only
2.D.E only
3.B. C only
4. A, D only

FAfEd ¥ ¥ 3 MY 3a9a (dd) Hidwaiaiy ST 3=k < & Tarl § I 309 B 6. 99 oIaid o8 TRWND ARy (-
GRATSHT 3 BT gl B & |

ATER

B. 9H9

C. H9=1

D. Ufdadf yare
E. UA®

el fau T fasedl § 9 T8l 3R BT 90 Bifo :

1. Pdd A. B
2. $ddD.E
3. %ddB. C
4, Pad A.D
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A2
A3
A4

Objective Question

991908599 Which of the following are likely to lead an appreciation in the value of a country’s currency?

A Higher real interest rate

B. Higher nominal interest rate
C. Lower inflation

D. Higher inflation

E. Large current account deficit

Choose the correct answer from the options given below:

. B. C only
A, Conly
.D.B only
.E. A only

frafefEa & @ frad grr fnsdt S o g (org audl & T %6d 50 Heu # 9fe e Bl Sy et 20

A. IR IRAdD S0l &
B. 3= AHAIHS &9 a3
c. g wwifa

D. 3= Whifd

E. 98¢ 919 @Idl °1el

A feu T fawed! © 9 98l SR &1 994 Difol -

b =

Lo

1. $dd B, C
2. FAAA. C
3. %90 D. B
4, BT E. A

Al

A2

A3

A4

Objective Question
100 908600
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Before writing the research report (Pre-writing). a researcher usually considers

A. Purpose of study

B. Readers of report

C. Climax order of report
D. Visualization of report
E. Uses of report

Choose the correct answer from the options given below:

.C.D. E only
.A. C.E only
.E.B. A only
.D.B. Aonly

g, i, [y RUIE (@@ gul) g & gd 9910d: 39 W (38R &l 8:

A, 3T BT I

B. RaE & gre®

c. Rurd & =Ry (i) 79
D. RXaid ®t sear

E. Raid & i

i fau T fasedl § 9§ Il 3TR BT 9g BIfo :

o =

IS Y

1. $ad C.D.E
2. FadA.C.E
3. PG E.B.A
4. HddD.B.A

Al
A2
A3

A4
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PREVIEW QUESTION BANK(Dual)

Module Name : Commerce
Exam Date : 13-Jun-2023  Batch : 15:00-18:00

Sr. | Client Question
No. ID

Negativ

Question Body and Alternatives Marks Marks

Objective Question

1011908601 g4y the interval-scale and ratio-scale data usually which of the following measure of association are used?

A. Kendall's tau b

B. Correlation ratio (eta)

C. Partial correlation

D. Spearman's rho

E. Product moment correlation

Choose the most appropriate answer from the options given below:

A.D.E only
.B.A.E only
.C.B.E only
.D.B.E only

SR TTUHT (YA SR SHUh-ATIHl ses| eq Fafaiad o 8 $1H I 9gai & 0 $1 Wi B § 2

A Fecgcadl

B. IgUaY 3UMd (3 1 T)

C. 3 TeaaYy

D. TR 9 3 ard

E. 3d1% (IRUIH) &0 ggHay

e feu T fadedl O 9§ Tl 3R BT 90 BIfo :

PR SV

1. $GATA.D.E
2. $AAB.AE
3. %40 C.B.E
4. ®ddD,.B.E

Al

A2

A3

A4

Objective Question
102908602
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Which of the following factors influence the selection and construction of the scale?

A. Multicollinearity

B. Data properties

C. Number of dimensions
D. Level of Significance
E. Research objectives

Choose the most appropriate answer from the options given below:

.A.B. Conly
.D.E.B only
.C.E.B only
.A.E.D only

fefafad ®19 9 DR (9®) HI9-T & 90 U9 WRaA1 (Fafon &1 wuifad #d €2

A, 9g-EXEHal
B. 3&ol 0T ¥
C. 3MTTHI B T
D. H5d P KR

E. XY P 35T
i fau T fasedl § 9§ Il 3TR BT 9g BIfo :

R

1. $ad A, B.C
2. $90D.E. B
3. PG00 C.E. B
4. BAAA.E,D

Al
A2
A3

A4

Objective Question

103908603 | yyrhie using a recruiting yield pyramid, the managers are aware of which of the following while recruiting new hires?

A. The ratio of official needs to actual hires 1s 2 to 1

B. The ratio of places to the people called for an interview iz 12 to 1

C. The ratio of offers male to new hires is 20 to 1

D. The ratio of candidates invited for interviews to candidates interviewed i1s about 4 to 3
E. The ratio of candidates interviewed to offers made is 3 to 2

Choose the most appropriate from the options given below:

R
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i A FORITES &1 War 3+ & $H T Na=@ ¢ il 31 1R $xd 999 Fafifed 3 9 57 a9 geaa g 6 -

A. Juded Ffa vRarg SR aga: Hoif e o arel snafifal s =g 2:1 8

B. SUT® UE 3R HI&TPR & oL @ T8 ATl &1 30T 12:18

C. SYTR TRATd SR T A BT ST 20:1 5

D. TIETHR F T AT R 01 TeT@HR G & ST S0rd T 4:3 8
E. GI&TehR & fo1Y ST 7 U U 215 &1 31U 3.2 §

A f4u T faoedl © 9 9El 3R &1 994 ifo ;

1. Pdd A.D,E
2. $dd B, C,D
3. A A, C.E
4.%dd B, D.E

Al
A2
A3

A4

4
Objective Question

104908604 | The ytilitarian view of ethics is one of the few perspectives on business ethics and it includes:

A. Respecting and protecting individual liberties and privileges

B. Imposing and enforcing rules fairly and impartially

C. Ethical decisions made soley on the basis of their outcomes or consequences

D. Encourages efficiency and productivity and 1s consistent with goal of profit maximisation
E. Ethical decisions be learned on existing ethical norms in industries and communities

Choose the most appropriate from the options given below:

1. A.E only
2.C.Donly
3.B.Conly
4. D, E only

AR $1 ITTET Id) e PE 0 aeaide JER & f&fie uitedl & 9 ue € ok sod afefiE &

A. TG T WaadT AR GIwRIERT &1 9 3R 36T I8

B. e & fmae 0 T HfRERIMG HA1 IR 37T wad4

c. iferra Fofa gof =gur ufawa iR aRomg & sreR &R o o @

D. 554 S&dT 3R ITeHdl & NIl Hadl & SR 98 Sfeas iy i @3- & 60 & S0 8
E. Fifaera fofa Sam ik e § fGymme ifard ufaasr o arenfid g1 g1

A f4u T faoedl © 9 9El 3R &1 994 ifo ;

1. Pdd A E
2.%dd C,.D
3. %dd B, C
4, $dd D, E

Al
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4
Objective Question
1051908605 yyhich of the following are considered as off balance sheet activities of a commercial Bank.
A. Leading money to a depositor
B. Borrowing from RBI
C. Purchasing a future contract

D. Issuing letter of credit
E. Engaging in Swap Confract

Choose the correct answer from the options given below:

R

frafafaa & 9 o0 aiftifeue 9 & qo-da 9 5oR aTd fobareand & &4 8 31 O1dT 82

A. STHIEHA B G&T (F940) IUR &1
B. IR &t 3Ms T IYT

c. [ arger dide 3t \ieen
D. ITE- U &1 (T8 =1

E. 3(C0-gad (3d9) Hidar & Jewdr

A fGu T fop eyl § 9 968 Sugdd IR &1 99 DifoIu:

1. PETA.E.D
2. $4dB.C.E
3. $AAE.D.C
4. HATA.D,E

Al

A2

A3

A4

Objective Question
106 908606
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Which are correct regulatory provisions for foreign bank operations in India?

A. They are incorporated in India and have their head office in foreign country

B. Foreign banks since 2002 have been allowed to set up their subsidiaries in India

C. The foreign banks are allowed to operate in India even it they are not financially sound
D. They have to operate according to the banking regulations in India

E. RBI approved that foreign banks which are present in India could open their branches

Choose the correct answer from the options given below:

.A. C.Eonly
.A.B. Conly
.B.D.E only
.C.D.E only

faexft ¥ & yRd ¥ coad fhuea & IR & a1 9t 87

A. T YRa & i 5 o € SR S g faem A g s

B. T4 2002 ¥ 3=l S 1 ¥RT F 3197 TeTas §F e 7= 3t srafa 8

c. YR # fao=h S & e s 3t ¢ a3 foxfto =9 S oogg 7 §f
D. 3% HRa § dfdh7 fafad] & SR &1 3 sl ¢

E. YR ord 8% 3 yRa B faemm fae=h S o) st 3mar @ren 31 oo 4 g

+id fau U fasedl O 9§ Hel 3Tk BT 9g- BIfo :

R

1. $ad A, C.E
2. FAAA.B. C
3. 940 B.D.E
4. HddC.D.E

f\l
A2
A3
:A4

Objective Question

1071908607 yhat are the positive attributes of mobile banking.

A. Negative experience in European countries
B. Wireless Application Protocol (WAP)

C. Advanced Penetration of Mobile network
D. Less security

E. Faster data processing speed

Choose the most appropriate answer from the options given below:

R
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OiaTgd ST & PRSI 0 F 1 6 -

A U S H APRIAD 3JHd

B. QORI Ui ¥ Weldld (S&g U Ul
C. TSais UHeTH TP Hiasd Acad
D. TH JR&T

E. STel Uyt &t 11fd &l g r

= fau ¢ fasedl ® U 9ad Suged SR $1 99 HIU:

1. $Pdd A, C.D
2. %dd B, D.E
3. $dd B, C.E
4.%dd C,D.E

Al
A2
A3

Ay

4

Objective Question
108 908608 | ywhat are the different strategies firms reset to "pricing to capture .......

A. Challenge the cost route by ideology the inflection price point
B. Offering lower / agodesle price point

C. Penetration pricing

D. 'What the traffic can bear' pricing

E. Absorption cost pricing

Choose the most appropriate from the options given below:

1. Aand C only
2.Dand E only
3. Aand B only
4. B and E only

T DI g P & HareH 9 Al wiage sivd FuiRo & g o o ffiaf a1 emmad €

A, ST (AUl oR®) Ted fdg 1 ygaeR arTd Al &1 I &A1
B. = / GE-IT (TN S0 fdg FUeis HRH
C. 34 AT FulRor
D. W16 Hel &5 AR
E. STARA (a0 arTd Jed FuRor
Hie fiqu Tt fam eyl T 9 969 IUgdd SOR &1 99 DifoIL:

1. FaFA AR C
2. %gaD AR E
3. %ad A 3R B
4. $aAB ARE

Al
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A2
A3

Ay

4
Objective Question
1091908609 \which of the following are necessary characteristic of modern selling?
. Database and knowledge management
. Brand extension
. Customer relationship management

. Segmentation, targeting and positioning
. Satisfying needs and adding value

mgowpe

Choose the most appropriate from the options given below:

.A. C.E only
.B. C.D only
.C.D.E only
.A.D.E only

sy et ot snaxas fadvarsi =i fafed Fifve -

A. SIETEY 3R IF uarH
B. §is & fawR
C. UTgD Jde Y=
D. WeIHeul, ey iy g safufamo
E. STa=gddrsf &1 gfd 3R Oe SiiaHd
= fau e fasedl & U 99 Iuged SR 1 99 HITGT:

b =

Lo

1.®Pada A, C.E
2.%4d B.C.D
3. %40 C.D.E
4. PaAA.D.E

Al

A2

A3

A4

Objective Question
110 908610
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One or more parties to a negotiable instrument is/ are discharged from liability in which of the following ways:

A. By giving the notice dishonour by the holder

B. By deliberately cancelling the name of party/parties
C. By taking qualified acceptance

D. By allowing drawee 24 hours to accept

E. By material alteration

Choose the most appropriate answer from the options given below:

.B.C.D only
.D. A, Conly
.E.C.B only
.A.B.C only

et oRepTI O B U Siua it ver Fafiad i adiet € Suar 9 gad g @

A. YR ERI WP (TPR) DI e SR

B. STFgADR U&f / J&fl BT - faR (82T PR
C. g WIPId § (ST Db

D. 3{TexUI Bl 24 U Bt B S SHT
E. 9T 3fea-ged ( HID)

A9 fGu T foedl O 8 968 Sugdd Jo) &1 99+ DifoIu:

R

1. $GdB.C.D
2. FAAD. A, C
3. $AAE.C. B
4. A A.B.C

5\1
A2
A3
:A4

Objective Question

11908611 1y \which of the following cases. the agreement in void ab-initio

A. Mistake is caused by fraud or misreperatation

B. Mistake as to the identify of person contracted with

C. Mistake as to the nature and character of a written document
D. Bilateral mistake

E. Unilateral mistake

Choose the most appropriate answer from the options given below:

1.C.D.E only
2. A, C.E only
3.B.A.Conly
4. D, E. B only
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A, TTeTclT eaT St v FeTn gRI 8% §1

B. 3% ofad ®I gg= 9 Gafeld el

C. g8 el ol faifad S¥daTas (Tu) Heel Uopld sruar favd &1 81
D. fgueiia erdt (4o

E. THY&HT TTadl (4a)

1 fau ¢ fasedl ® U e IUgad STk 199 BIIU:

1.%ad C,D.E
2. A A.C.E
3. %A B, A, C
4, %dd D, E. B

Al
A2
A3

A4
4

Objective Question

1121908612 ywhich are the conditions in which unilateral relief is granted in cases where section 90 is not applicable in income tax?

A. Assessee should be resident of India is the previous year

B. The income should have accrued out side India

C. The assesse should not have paid the tax in such foreign country by deduction

D. The income should not accrued outside India

E. The income should be taxed both in India and a foreign country with which India has no agreement for relief

Choose the correct answer from the options given below:

O
P W
oW
s
g
&

Frofafaa o o i axned ° v udlin Jed ver &1 oidt ® f59 amme & smge ifSf=ms &1 9RT oo s el &

A. TUsd oy Feifedt yrRg &1 e g1 @iy

B. 39 YRd & aTex Hfold gt 91fge

c. FReffedt 3 39 fagr & eldt & H1emm § SR &1 YIdH gl [ar gl

D. 319 YRd & €163 4 3ifofq et eIl =gy

E. 310 TR YR 3R faew & oft o= ifERifta foran o =ifeu forgss 91y WRd &1 Wed Saef #is oeR A8l §

1= 4T T fasedl § 9 el 9TR 31 994 Pifoy ;

1. %ad A.B.E
2. %dd B, C.E
3. %dd A.D.E
4. Pad A, C.E

Al
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Objective Question

1131908613 yyrhyich expenses are expressly disallowed under profits from Business or Profession?

A. Salary paid out of India or to a non-resident in India

B. Wealth tax

C. Payment to any Rural Development Programme

D. Expenditure incurred by companies on notified skill development project
E. Interest. royalty or fees payable outside India

Choose the correct answer from the options given below:

.A.D.E only
.A.B. C only
.C.D.E only
. A.B.E only

T U1 =M & SiciTd Hafarad & 9 &4 9 o0g Wed: 39§ -

A. HRd & ST6R 3Ydl HRd | bl siardi o1 Hea da=

B. TRy B

c. ot wmfion faepTa PriseH & FitR &1 715 Jarrh

D. g1 P fadry uRaeHT R Sudl gR1 faar 131 g
E. HRd ¥ 9163 Hag =7, Jgec! g1 e

i fau T fasedl § 9§ Il 3TR BT 9g BIfo :

b =

S V]

1. $GTA.D.E
2. FAAA.B. C
3. $a0C.D.E
4. BT A.B.E

Al

A2

A3

A4

Objective Question
114908614
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Tax planning involves which of the following features?

A. Tt is an inherent right of the tax payer

B. It has originated from the very existence of certain exemptions. deduction ete
C. Transaction take the form of colourable devices

D. It is legal and accepted by judiciary

E. It is based on principle of disclosure

Choose the most appropriate answer from the options given below:

.A.B.D oanly
.B.D. E only
.B. C.D only
.A. D, Conly

R [FaioH o Fafarad faRvan g

A. T8 TR 1q1 BT Sidefd SR §

B. 78 HIa9Y Fe. Hekil safe I 81 ST g3 §
C. HAGER (T-a) U gfad &1 &0 o ol &
D. 7 fafie § oiR -amguifeieT gR1 Wigpd ©

E. 98 U@ciaxul Risid | suid §

1 fau ¢ faoedl & U 99 Sugad SR o1 99 BITU:

b =

e

1. $ddA.B.D
2. 940 B.D.E
3. a0 B.C.D
4. AT A. D, C

f\l
A2
A3
:A4

Objective Question

115908615 Tpe following are the hallmarks of an effective marketing mix:

A. The marketing mix matches customer needs

B. The marketing mix ensures high probability

C. The marketing mix contain a competitive advantage

D. The marketing mix is well blended and matches corporate resources
E. The marketing mix adheres to ethical principles

Choose the most appropriate answer from the options given below:

1. A. B. C only
2. A, C.D only
3. C.D.E only
4. B. C.D only
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Al
A2
A3

A4

1
2
3
4

Objective Question

116 908616y rateh List I with List IT
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frrafefea & 3 wrdt fagur ftyy b fiaw) & sif¥emaifmes faRivdrsd i fafed S -

A. faqur 9firy UEs & sawadhdl & SEY el 6
B. fquur gfitry § = aryved gRfEd eri ?
c. fauur gty § ufradf @y @1 Rufe Saw gidi

D. faqu 9ffry goariid g1a & SR g8 Ffid Sueei & sAEg elare

. HAA A.B.C
. Had A, C.D
. Had C,D.E
. Had B, C,D

4

4

E. faqur gftry & Hiforra Rt &1 uraH fear s g
1 fau ¢ fasedl ® U e IUgad STk 199 BIIU:

LISTI

International Trade theories

LISTII

Theory Propoundness

. [Factor Endowmwnt theory

I JAdam Smith

. [Product life cycle theory

II. Micheal Porter

. |Absolute cost advantages theory| IIL. [Hecksher and ohlin)

] [e [+] F=

. [Competitive advantage theorv

IV. Reymond Vernon

. A-L B-IIL. C-IL. D-IV
A-IIL B-IV, C-I. D-II

Choose the correct answer from the options given below:

file:///C:/Users/Administrator/Downloads/11_2B_Live_Comm_E/11_2B_Live_Comm_E_101-150.html

3. A-II, B-IIL, C-1, D-III
4. A-IV. B-I, C-I11. D-II
et 15p1 gl 11 9 T iforg
1 %n
(amf@umugim (Frgia )
A |[PR® doawl (9GS | L [osq EY
B. [3de wiiad 9% (Usid 1L [As@d giex
C. [Frus amTd @y Rgid | 11 [8eRR U8 HieleH
D [ufdgide ary figia| v, jE0s e
fafRad faweul & U 981 STk &1 90 DI :
1. A-L, B-IIL, C-IL, D-IV
2. AJIL, B-IV. C-1, D-II
3. A1, B-IIL. C-1. D-III
4. A-IV. B-I, C-I1I, D-II
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Al

A2
A3
A4

Objective Question

117 908617\ fateh List T with List IT

LIST I Approaches LIST I Developed / Suggested
. [Opportunity cost Approach | 1. |David Watson
[Replacement cost Approach | II. [Rensis Likert and Eric G. Flamholiz]
. [Historical cost Approach I1I. Brummet Flamholtz and Pyle
. |Standard cost Approach IV. Hekimian and Jones

lwlle] [+ b=

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV
2. A-IL B-IIL. C-1. D-IV
3. A-L B-IV. C-I1I. D-II
4. A-IV. B-IL. C-III, D-I

1 1Y 11 9 e Siferg

T
(O SETYE RIS SUTTH) (aferariea / Jgmar T
A |37 TN IUNTH il S EEGIEGE
[IF=ITO AT SuTH 11 RIS di@c 2R TR ol UH gled
. |ufaerites @rTd 3urTH 111 [gHe, WM gl AR O
[T @ ard SUrH V. B e R &

FrafaRad f[aeel O 9 981 3tk &1 99 Sl -

5

CIEE

.A-L B-IL. C-IIL. D-IV
- A-IL B-IIL. C-1. D-IV
. A-L B-IV. C-I1I. D-II
CA-IV. B-ILL C-TIL. D-I

b =

W

Al

A2

A3

A4

Objective Question
118 908618
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Match List I with List IT
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LIST I Nature of Goods

LIST II Demand Elasticities

A [Inferior goods

Posttive cross price elastieity of demand (Ex+=0)

Substitute goods

. |Greater than vnitary income elasticity of demand, (Ep=1

Negative income elasticity of demand (E;<0)

[Luxury goods

B.
C. |Complementary goods| ITI.
D.

" |[Negative cross price elasticity of demands, (., <0)

1

2

4

3.

AL B-IV. C-I1. D-I
AL B-1 C-IV. D-II
A-II. B-L. C-III. D-IV
ATV, B-IIL C-1. D-II

a1 191 g1 11 9 fieH sifore

Choose the correct answer from the options given below:

Capital structure theories

Key components

T FH 1
A |SEERT a5 L [AM @I 4D Uidd i T (Exy=0)
B. [RIMYH a&U 1. [ @1 3 T U | 38 (1
C. [3® a&L TIL. [T 1 BUTHS A T (E<0)
D. [Aefaanzs awgy | IV. [AIT ®f HUMHD Uid SIFd did (<0
Fafeiad fasmedl T I Tet 3Tk &I 98- DI ;
1. A-TIL B-1V, C-I1, D-I
2. AL, B-I, C-TIV, D-II
3. A-II, B-I, C-IIL, D-TV
4. A-IV, B-IIL, C-1, D-II
Al
1
A2
2
A3
3
At 4
4
Objective Question
119908619/ § 124h List T with List II
LISTI LISTII

A MM approach I |Costs of financial distress
B. [Pecking order theory | II. JAssymetric information
C. |Trade off theory III. [No target capital structure
D. |Signaling theory IV. [Home made Leverage

b =

S

AL B-I1. C-IV. D-I
. A-IV. B-IIL C-I. D-II
. A-IV. B-L. C-IIL. D-II
. A-IV. B-IIL C-II. D-I

Choose the correct answer from the options given below:
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Yt 11 g 11 9 e siforg

A

[ JurE | 1 [ 99 ®f ard

O 3fiex 2| 1 [sremmmie g

3 T gia |11 [aea <Rd gei e

B
C
D

) R [72 1HiEid Sedl G1H 1S didds)

FafaRad [deedl O 3§ 981 Stk &1 99 Sl -

Al
A2
A3

A4

AL B-I1. C-IV. D-I
. A-IV. B-IIL C-1. D-II
. A-IV. B-L. C-III. D-II
. A-IV. B-IIL. C-II. D-I

b =

da

Objective Question

120 908620\ fateh List T with List IT

LISTI LISTII
Regression variations Measurement
A_ |Total sum of square L Z ( P-7 }2
B. [Sum of square due to regression| IL Z (y: - }:
C. [Sum of square due to curve IT1 Z{J{, -7 }l
D. |Standard error of estimate IV. \/Z (J", = _{-‘f )2 In—2

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV
2. AL B-L. C-IL. D-IV
3. A-IV. B-IIL C-1. D-II
4. A-IL. B-IV. C-II1. D-I
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I
m%ﬁ@m)

A [@Tl &1 e gRT L

B. [ufv™= & S0 gt e an I

C. AR PRUGN HI UM |11

D. [UTdh e DI A Ff V. JZ(}U -5) /n=2

1. A-I. B-II. C-III. D-IV
2. A-IIL B-L. C-IL. D-IV
3. A-IV. B-IIL C-1. D-II
4. A-I1. B-IV. C-III. D-I

Al
A2
A3
A4

Objective Question

fafafad faeel § 9 98l SR SI 99 DI

1211908621 \ateh List T with List II Multiple purposes of performance assessment

LISTI
General Applications

LISTII
Specific purpose

A [Development uses I. |Identification for performance, recognition, individual performance, salary, promotion, termination |
B. |Administrative uses’ decisions II. [Critics of validity research, Helping meet legal requirement.

C. |Organisational maintained objectives| I11. [[dentification of individual needs, strengths, performance feed back.

D. [Documentation IV. [HR planning, Determining organisation trainings needs.

. A-IV. B-L. C-I1. D-III
AL B-1. C-IV. D-II
AL B-IIL. C-L D-IV
.A-L B-II. C-IIL. D-IV

b =

S S

Choose the correct answer from the options given below:
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Yt 11 g 11 9 e siforg
T 1 (A ST T 10 (3Rt ) _
A [GHmres man 1 [priFIEA & o7 R, Apie aRAMG dad GiFid dad dig
B. [WRIE® UgrT Uiy 11, [T Y @1 SATeiia] Ge1d dal 4 [dide HU&mE gl gl &
C. [eTeIeTd 3FRET I5.=d| 111 [qaTadd Saadale &1 UgdH Yad Uel hIasG Waqp
D. [Gxardeiaxtl (erdi@xen | IV, [AMa THe1eE a1 $716- o1 A0 et avgmdis $f SaeyRu]
frafaRad fadmedl & 9 96l IR &1 T DI -
1. A-IV. B-I. C-II. D-III
2. AL B-1. C-IV. D-II
3. A-IL. B-IIL. C-1. D-IV
4. A-L. B-II. C-III. D-IV
A
1
A2
2
S
3
My
4
Objective Question
1221908622 \fateh List T with List IT
LISTI LISTII
Committee Purpose
A [Basel committee 1. [ndia's Monev market
B. [Raghuram Rajan committee| [I. [Reform for financial sector
C. |Vaghal committee 111 |Supervision of Bank
D. [Urjit Patel commitiee IV. [Examining the monetary framework

AL B-IIL. C-IV. D-I
. AL B-I1. C-IIL. D-IV
AL B-IV. C-I1. D-I
. A-IL B-IV. C-III. D-I

b =

S

et 11 g 11 9 et siforg

Choose the correct answer from the options given below:

T 1 AT T 11 (35%)
ERSRIGIG]

L |HRd &f U4l &l

Rz 3o aiife] 1. [afig e & gur

I SAT 111 [§% 1 qggemn

SIS EIE

[3Teid uca Ornd | IV. [iEdE alar o Saiad

Al

. A-IL B-IIL. C-IV. D-I
- AL B-I1. C-I1. D-IV
AL B-IV, C-ILL D-I
. A-IL B-IV. C-III. D-I

Lo kS —

fafciiRad fawedl O 9 98l IR &l 9u- BIfl -
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A2
A3

A4

4

4

Objective Question

123 908623 )\ fatch List T with List IT

11_2B_Live_Comm_E_101-150.html

LISTI

Stage of byers-seller relationship

LISTII
Characterised by the following

A |Pre-relationship stage I. |Political supplies attempting to reduce risk of change and to to shift risk.

B. [Early stage II. |Shared muted dependence and high levels of commitment .

C. |Development stage I1I. |Customer concers about risk of change and its destence between validity and the potential supplies.
D. [Long-term stage IV. [Reduction, uncertainty and distance.

b =

. A-IV. B-L. C-I1. D-III
. A-ITL B-1. C-IV. D-II
A-L B-IV, C-II. D-IT

L¥5]

i

. A-L B-II. C-IIL. D-IV

=il 11 a1 9 e sifore

Choose the correct answer from the options given below:

Al
A2
A3

A4

CA-IV. B-L. C-I1. D-III
- A-IIL B-1. C-IV. D-II
.A-L B-IV. C-ITI. D-II

W

Objective Question
124 908624

T T I

(@ fathar ey & =) (CIREED)
A [Gds gd @R 1. [GRGdd BI SIRGH ©H o d91 =1 s & (08 JIrERd HTdl ATgfddd]
B. [omiii® =vu 1. [ YRAT 3R 9 T &1 Wideed] 9151 &d &
C. [[AB™ &1 =R 11L [GREdH & eH @ g1 H WY 3R 7 G U Yaiid T1eeh i fodl
D. [gulaitic TRl v |13 3z gl &1 ol
frafeRad faeedi & J 96l SR &1 =g DI :

1. A-I, B-IL, C-III, D-IV
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Match List I with List IT

LISTI LISTII
Schedules of the Companies Act,2013 Deals with
A [Schedule III I. |Code for independent directors
B. |Schedule IV 1L |Corporate social responsibility activities
C. |Schedule V II1. [Preparation of Balance sheet and statement of profit and loss
D. |Schedule VII IV. |Appointment and remuneration to managerial personnels

Choose the correct answer from the options given below:

[ SR

[¥¥]

N

e

AL B-IV. C-IIL. D-I
AL B-L C-IV. D-II
. A-L. B-IL. C-IIL. D-IV
. A-IV, B-IIL C-I. D-II

11 g4l 11 U fiaH Sy

U S, 2013 B ol

A LEipt

Al

a7 MG og FgAE]

SYE! I L

o= v 1L [PIRUIRE IS Gl fshdrdhany

Erccihy 11 [qe-194 1 dTRI Td TTH 3R g1 @1 [da3

B
C.
D

. [SEE v IV. [Fsiel SiHTl 1 HYfad Ud UIRYiHdD

FafaRad f[aeedl O 3 98! Stk &1 99 BTl -

b =

da

Al

A2

A3

A4

Objective Question

125 908625 ) fateh List T with List IT

AL B-IV. C-IIL. D-I
AL B-L C-IV. D-II
.A-L B-II. C-IIL. D-IV
. A-IV. B-IIL C-I. D-II

4

LISTI
Person non-resident Indian

LISTII
[Rate for deduction of tax at source

A |On income from Dividend I [30%
B. |On income by way of short term capital gain referred to in section 111 A II. [10%
C. |On income by way of winning from horse race II1. |120%
D. [On income by way of rovalty or fees for technical services pavable by Government | IV. [13%

Choose the correct answer from the options given below:

b =

S )

A-L B-IL C-IIL. D-IV
AL B-IIL. C-L D-IV
. A-IIL B-IV. C-L. D-II
ATV, B-IIL C-1. D-II
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Al
A2
A3

A4

3. AL B-IV. C-1. D-II
4. A-IV. B-III. C-I. D-II

4

Objective Question

A. Kennedy round
B. Doha round

C. Geneva round
D. Tokyo round
E. Uruguay round

Choose the correct answer from the options given below:

AW
Op 0w
nwr o
>9P0
m Qe
[we e v e Res)

it 11 G 11 Y e Siforg
T 1 LS
HPTE YR T IR P BT R

A [TTHIRT U1 S R 1 o

B. [URT 111 A ¥ gYiARad Hea@id® doiivd aH & H19H § e 39 | 1. f10%

C. [93 aR H siid- T g3 3 W 11 [20%

D. [fR&R gRI Yad ddb-io Ydl & o0 I U1 A & ¥4 H U1 31 | IV [15%
fafeiad fdmedl & 3 9gl IR &l 9o Difeu -

1. A1 BAL, C-IIL, DIV

2. A1, B-1II, C-1, DIV

126|908626 Sequence the conduct of following trade negotiation and facilitation rounds in chronological order.

A FTEIER
B. QIEIGR
C.SHdI SR
D. Tl ER
E. 33 3R

A feu T fooedl o © 98l SR &1 994 i

b =
nwp U

=R Ne!
o

Sl
Op 0w
[ws Mo s[w e Rlvs|

fFafaias @R ardl Grl SR IRHR01 & SEieH] &l SIAbHTaR S5 1 T
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Al

A2
A3
A4

Objective Question

127)/608627 Arrange the steps for verification and value of furniture and fixtures by an auditor.
Ensure that the amount and rate of

. Depreciation charged on different items is based on fair estimate of their working life

. Check that repair to furniture if any. during the current year is debited to Profit and loss Account

. Verify with reference to the purchase invoice in case of the assets have been acquired during the current accounting period
. See that payment made on account of purchases of any item of furniture and fixture through the invoices of the suppliers

. Check that a stock register is maintained containing the details of the various items purchased

mgdonwp

Choose the correct answer from the options given below:

> 0
oN--Ne!
o Nole
oW
mm D

o]

A E.C.D.B

fepet TrRaTIRIa GRT SR SR ISR SUER & Fa SR Jedid- o 9xuN &I orafeyd ®ifor:

A u%gﬁf‘%amﬁfﬁﬁﬁﬁﬁmwﬁaﬂ@smaim IR TSI &R I UG g1+ | FHATGIY o Ifd Widbe TR
SRd gl
B. 3U q &1 Gifd &A1 1o Al I1g ay T BleR B Blg I §s ¢ 1 39 ar-gli- @ & Sfae e man g
C. IAHH i 3fafy F el & 3o &1 32 H by «fioid BT FATI ST
D. %ﬂawﬁaﬁmw feb PR 3R ISR IUwBR B fb il 7e 1 Wia & (o7g s1yfcderdi & dieie & Arens I 3l o1 7
i
E. 30 T &I g H31 [ Wi Ao & B3l &1 71 fafts 7ef & <R & ufafd &1 18 71

e feu T fasedl © 9 98l 3R &1 994 pifon -

1
2
3
4

b

0w

ei-Nel e
wmmJg

> W0
Orpow

ol

Al
A2
A3

Ay
4

Objective Question
128/908628
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In order to maximise profits in oligopolistic markets, in which order firms addresses following strategic challenges?

A. Bargaining power of buyers

B. Competitive intensity of rival firmsg
C. Bargaining power of suppliers

D. Threat from substitute products

E. Threat of new entry

Choose the correct answer from the options given below:

b=
Mo ow

Wm0
0w p

- b
>ony
O W

SEEHTRG TR & a1 & siftwad B & o Faforad few on & dufar srd-ifae gHifaal o SamH od &

A. paralt B FIEaTe &

B. Wi ufai 7 e wfaeguf
C. Tgfiearal St Frearol &
D. RFTH T3 I el

E. 19 Ufaf® I T

A fau 0 fawedl # U 981 SR &1 94 Sl

1.B.C.E.D. A

2Z2D.EAC.B

33DDE.B.C.A

4 E.B.C.A.D
Al
1
A2,
2
A3 5
3
Ay
4

Objective Question

12911608629 Sequence the following steps in the process of securitisation.

. Special purpose vehicle (SPV) issue tradeble securities to find the purchase of pool of assets

. SPV subcotracts (outsource) the originator for collection of intrest and principle payments on the pool of assets
. SPV repay the funds to the investor or cashflow arise on the pool of assets

. Originator maker a pool of assets and sold it to the SPV

. SPV pays the funds the orgination for the pool of assets

mgowpe

Choose the correct answer from the options given below:

L=
mopw

> Y
3 9
omE o

= bk
i @ e
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ufcryfdezor ot ufshar & Fafafad =9Rui & bHes Sifee

A. TRA ROY defdd (w9 4 oY) uhamfodl & a0z 91 wlie & FHae & g R o= g ufoufd Sk axarg |
B. THUId! &7S] & TSI iR UREH il & 995 IR Jaed & YIaH & ol Sdf dadi ol (SuHfdar) $=al g

c. Tt 9t &t ufgwfl & g 9 I Add $ YaTs o Ma¥dl o MiREl &1 gfiTaE sxar gl

D. Sl gkl $T 948 §9R 3¢ 09 4l &l & §g e g

E. T8 Ot §t ufvamfindt & 9gg & fog safvaal @t it & gy sxar gl

1 fSu Tt fdeedl O ¥ 9l 3R &1 944 I

B e
Moow
P W m g
W e W
Ompn
aOOm

Al
:A2
A3
A4

Objective Question

1301908630 Sequence the following statistical distribution and tests in the increasing order of symmetry

A, Z-distribution

B. Chi-square distribution
C. T-distribution

D. F-distribution

E. Uniform distribution

Choose the correct answer from the options given below:

el
nMwg
Owow
MO O
B Ll
W MmO

JuHT & ged

5U BT I FafafEd gifersia s td wiguil &1 3py 1 @
A Z-§cd

B. @1 WHATMR 59

C. T-§c

D. F-§cH

E. IO §cd

e feu U fasedl § 9§ Hel 3R BT 99 Do

1.LD.B.E.A.C
2:B,; C;DAE
3. H.BD A
4. CD.EAB

Al
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A2
A3
fx4

4

4

Objective Question

13111608631 Identify the correct sequence of the leadership development process as adopted by Anderson Consulting.
A. Coach executive terms on individual leadership and effective teamwork
B. Assess organisation's direction and current strategies speed at which susneff results he pcheved
C. Create effective commination strategical for key influences diredors shareholder employed ete

D. coach individual exculives performed behavior along communications
E. Assess oagain setiws culture dyine required shifts and action merr leader to charge them culture

Choose the correct answer from the options given below:

1.C.D.B.A.E
2.E,B,A C.D
DA B, E C
4.B.E.D.A.C

TS dafect] gR1 T Siifierd Aqa & fammas Wha & T8 SmH & [gifdhd S ;

A. 9gfaTe® g SR Uil <iaes &1 i =i g

B. W& &1 411 7R goiar [T, s1awiie uiawsd Uit &1 siHard 1id &1 e

C. He@yul Ug@R TUT SR YRS SHIRFU Sid & feg uTd! SaR Sri-iadl duR &3

D. d9iai® aeR. e R UV ¥ qgfades I ydl & gra=l o Qao

E. G116 &1 S&pid Bl Yedich-, TR rierd 1 gRUTNT BRA1 3R g $ ardl ofekd §R1 1 B&pid 1 uRkad §q s

ST TR BT
i feu Tt faw el § U Il 3R &1 94 BT
1.C.D,B,A.E
2.E,B,A,C,D
3.D,A.B,E.C
4.B.E.D.A.C
Al
1
A2 5
2
A3 3
3
Ay
4

Objective Question
132908632
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Asrrange the following legislations in primary and secondary market in ascending order of its enactment.

. Mutual fund regulations

. Credit rating agencies Regulations
. Credit rating regulations

. SEBI intermediaries regulations

. Sweat equity regulations

Mmoo wpe

Choose the correct answer from the options given below:

A,
LB,
; G,
2B,

JA-LuIJ»—A
g e 0w
WwoY 0
7UU>U
t")t‘rjtﬂl"rj

ikl Sﬁ'{lg e doR Sadl FEfaRad faumi o 39 SiUFg & Rl 9 § gafd $ifsu

A T3 BS fafrae

B. $SC XIS ol f[afae
c. wfge e fafmm

D. Jal ey fafaa

E. W¢ gdicl faf e

A fqu e fowed! 9 98l SR &1 994 Difoig:

1.B.C.ADE

2C.D.E.AB

3JAOB.C.D.E

4 A B.E.D.C
Al
1
A2,
2
A3 5
3
Ay
4

Objective Question

13311608633 Arrange the key steps in developing a perceptual map to determine the position of a brand in the market place in sequence:

A Identify set of competing brands

B. Conduct qualitative research where customers score each brand on all key attributes

C. Put brands on two dimensional maps

D. Aggregate all brands belonging to that category

E. Identify important attributes that consumers use when choosing brands using qualitative research

Choose the correct answer from the options given below:
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TR T 51 &1 W Fuid S & [T ydfors TFE 991 & Je@qul oR0l B hHaS =01 § aRyd Hifel:

A vfadf sisi & g of fagHifed F

B. 3101 UMD LY HRA1 Sia T SUHIE W@ I 701 & SMUR TR TAS §18 B IS HRd 5

c. fg-foria At () W 918 &1 @ie R &A1

D. 39 4ufl & §ui 518 P GHIH A

E. 39 He@yu! 107 (faRrmansi) &1 ugam @31 fod Suiaar Torels T &1 War $Rd gU s &1 907 dRd 8 |
4 f&u T fdwedl & 9 gel 3R &1 98- S -

b =
e O W
Uﬁﬁ}-ﬁ
NomE

DA
. B,C
, BiE
D

bl

LA,

Al
A2
A3

A4

Objective Question

Asrrange the procedure to make payment using electronic cash ledger.

A. Generation of challan Identification number (CIM) and Amount credited to electronic cash ledger

B. Form GST PMT-07 and correction in electronic cash ledger

C. Challan of CIN (challan identification number) and mandate form payment through NEFT or RTGS mode
D. Generate the challan in form GST PMT-6 from portal and enter the details

E. Amount as per payment rule can be deposited by using internet banking. debit credit card ete.

Choose the correct answer from the options given below:

SR BT YA &R §U YA DA DI Uichdl Bl g iUd Hifoiu|

A. I YgaH T (T 3 ) &1 (10 SR Saaei-d $31 ToR (796 geikardl) H ST &1 7T T

B. il g &1 diuwet -07 &1 FAfor SR ol 1 ToR F s (@=ne)

C. Tt 3118 T (AT g1 I3eT) BT a1a SR SR UY "0 S{Ual ARCISITH & gRI 4TaH

D. Tieq ¥ Siywet 9ig -6 Ty & =1e &1 e 3R fa=on &t 9gf® &1

E. 7T 190 & SER YRR SR a1 . Sifae $hise $1S Sa & W Hxa o1 a1 o 9%l ¢
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¥
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Objective Question

1351908635 \What are the correct steps of procedures of e-filing of Income Tax Return?

A Filing details and computation of tax
B. Generate XML file. filing income tax return and use of digital signature
C. Register and login on portal and select application return form

D. Use of ITR form V and sending ITR-V form to CPC
E. Making payment of balance tax and contain the data provided for

Choose the correct answer from the options given below:
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Objective Question
136 908636
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Given below are two statements: one is labelled as Assertion A and the other i labelled as Reason R
Assertion A: The return on capital invested is a concept that measures the profit which a firm earns on investing a unit of capital
Reason R: Yield on capital is another term employed to express the idea

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R NOT the correct explanation of A
3. Ais correct but R is not correct

4. A is not correct but R is correct

9 &1 Y ST U §, TP AHUTYT (Assertion A) P U H ARG ¢ T G¥RT IUP DRI (Reason R)P T4 T

HftpY A: g @ T Uol R ufawd (emaw) Tt sayRon § o fodt e gr Uoh &1 fardt afe & Fag R sfsla ey &
o0 g ST g

HRUIR: Yol R Hd5a o4 [daR St ifeaied gq ¥gad s Har gl g g
TWRIGd P & 3HTadi 0, H1d ST T fasedi T 9 a9 Iugad Sk &1 98- DIy

1. AR REF TU T IR R, AT Je! UAT §
2. A SRR AT 9 & SR R, A &1 e oURel T8l &
3. ATICAPIR ST ®

4 ASFIETAPTIRITE
‘A]
A2
A3
A4

Objective Question

1371908637 Giiv-en below are two statements:
Statement I: The price elasticity of demand is greater, more and better substitutes are available for the commodity

Statement IT: Normal goods (E; > O) for which E; > 1 are called luxuries while those normal goods for which E; is between zero and o1

are considered necessities

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

o]

. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement IT is correct
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HYAL: T 3] ST O od D il & ol a%g P S 3R IPP faded Suae g1 31

HYF I1: d W T (E; > 0) Fored E; > 1 81, 3 faenfRyargul a¥g e @ forafe 3 9 axqu o g, Y3 SR 3oTs & 7%
I § O ol Rab aed T ot 5 |

SWRIKI YT & Hedles 1, - f3u 1Y faspedi I ¥ 9ad Iugad Sk &1 99 HITU:

HYF 1R SH Tel §
CFYF IR SH Tad §
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Objective Question

138 908638 | Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Cross listing can potentially increase the stock price and lower the cost of capital
Reason R: Cross listing facilitates wider stock ownership and expands invester base for a firm's stock

In the light of the above statements, choose the correct answer from the options Given below:

1. Both A and R are true and R is the correct explanation of A

(28]

. Both A and R are true and R is NOT correct explanation of A

3. A is true but R is false

4. A is false but R 1s true

T & P fAU U B, U@ DY (Assertion A) & $9 T fAfEd € ol GURT 9HS PRI (Reason R)d ¥ H

HUHUF A: UGB (B9 [ARET) U Wb $ITd H gl DI YUIGA 5l § SR Yol B adFTd § Sl 1 JUETgId1 gl
HRUIR: HIAGHIHR0 Y SA9S I Wiiid PR ol oldl ¢ 3R 594 Bl & %P & fog Fagraarsi & sruR &1 TR sia g
SWRIc S & Hedles H, - f3U 1Y fasbedi ¥ 9 999 Sugad Ik &1 99 Sy

 ASRREH TU T RR AT Gl UreT §
ARREA U T AR R AP TS U A &
ATIZAPAR 3T

b =

[F¥]

4 AT APTIRIAR
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Objective Question

Given below are two statements:

Statement I: The judgmental alltribution error is the tendency to over estimate the of external factor and underestimate influence of
external factor underestimate the influence of internal factors when making indgements about the behavior of others

Statement IT: Self-seeing bias is the tendency for individual to attribute then own success to internal factors while pulling the blame for
failures on external factors

n the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect
4, Statement I is incorrect but Statement II 1s correct

TR Py UM E:

FU I AR ¥ TAER F Ya § Fuig Hq gag Aifee AR e 915 SRE1 6 THE $i AT Agd ST iR
3NTARE HRON BT FH BT

wm% T GHPPRS AR 307 W0 B Guad] 1 99 3 SRS D1 Gal SR HIHAd] & (o aTe] PRD| Bl FGR
BRG]

SR Y & il H, - 3T T [qpedl ¥ 3 9 Suga SR &1 99 DITU:

FYFIR N3 T ®
HYT13R 1A 3T

. PYT I TA 8, AT YT 1 3T &
PYT AR, AT PYT I T &

b =
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Objective Question
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Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: "Promise is an agreement”
Reason R: "An agreement is the sum total of offer and 'acceptance”

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

[ 2]

. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A is not correct but R is correct

19 21 B [3U U §. U MUY (Assertion A) P ¥U H R & ol GERT 3P BRI (Reason R)P ¥ T
HUHYT A: "GTET (@) TP TR 8"

BRUIR: "Plg BIR TG (U 3R iHla BT Hadn giarg”
SWRIT B & SHelle o, - [3U 1Y fabedl § 3 9ad Sugad SoR &1 99 DY

 AJRRIF TEE SRR AT Jel TS &
AR R IF IEIE SRR AP Te! TN Tal ©
AT APTR TR TR R

AT TS TR TR

[ S

S 5

Al

A2

A3

A4

Objective Question
141 908641
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Government of India announced a medium-term fiscal deficit target of 4.5% of GDP by 2025-26. which involves a 2-percentage-point
compression from current levels over the course of three financial years. Targets for the centre and states for 2023-24 are 5.9% and 3%.

respectively. with half-a-percentage point leeway to the latter for power sector reforms. States have a steeper glide path for deficit
reduction that is particularly vulnerable to political promises of free food and energy. Gol. on its part, is committed to a capital

expenditure programme to nurse India economic recovery. and is nudging states towards fiscal balance.

India's ability to attain its pre-pandemic fiscal targets is also influenced by its need to keep credit flowing to small enterprises in an

environment of globally high interest rates. Broad-based investment revival depends on keeping credit costs in check by better budgetin,

of government expenditure. States have additional requirement of cleaning up off-budget liabilities accumulated through political

promises such as those on free electricity. Power distribution being the sole point of revenue injection. state utilities inability to pay is

holding up investments in generation and transmission.

Apart from introducing imperfections in the market mechanism, sectarian political targeting of welfare perpetuates inequality. Universal
wealth redistribution through cash transfers is a more robust approach. Promises to vote banks are essentially a zero-sum game where or
segment benefit at the cost of another. India has unsuccessfully experimented with inclusive growth for much of its post-independence
history. It has now corrected course to grow through clusters accompanied by even-handed welfare delivery. This approach has worked i
steering the economy through multiple global economic crises. A return to competitive populism will be an unnecessary throwback the

world's fastest-growing major economy can do without.
Which of the following is inferred 'zero-sum game' in the passage?

1. Wealth redistribution

2. Promises to vote banks

3. Even handed welfare delivery
4. Balanced budget

i o = we We e fir U e S o A

YT TRER 7 94 2025 -26 TF TH0 96, SEIG F 4.5 % ATt AN uie F 157 F1 amon 1 & fom o= faxfrg
T & ST 9T wRI

2 viowe forg &1 &0 =i 81 9 2023 -24 & 5T F5 3R U0t & U a7 S 5.9% 3 39% & s u=f & fou
fagga 47 § GuR & T o wforma =5t omsw 2

T, O Ao USSR Sl & TeHitas amel % W 8y w0 § gieasia € aoendi 9 % Ama fhaes $1 gy
Hfi® Bl 31 UNT TER AU AR § YR @1 erforawl &1 9efl W o & o 4ot org 1dwd & vy ufaes & i as
Tt F TH NG FgeE S i § Ui 71 @ 2R memn OF F o Yo asdl B U S S HRG 31 g
fay TR W 5= o0 <31 & uiEw § oy S § Twd F 6 S 99 e gt st srammea § o i 2
TUHEER X 5% &1 a0l TReR o0 & Y5 gued gl o &Xl W a0 W@ W i e 81 g faeed o9

T It & ArEw 9 Sy awe $ wfiieEa ggasit @ Huen s # srawgsa 1 fegy T v o e e

TR § fggg St =0 g & o1 T gftunelt g9 Fremt F yam $3 # semar fegq Sare SR avn F & F
ﬁﬁmaﬁ@m@%mmﬁﬁﬂu@%ammmﬁﬂ%ﬁ@%ﬁ%aﬁmmaﬁ
YT F &l 5

g ST H ATOHE GEUW o1 R H#fiE g eRem 21 v a9 ¥ 7 50 T ame s 3 vihea g
1 ¢ foed Us 9 &1 g 9l @1 & 10d ¥ o1y 34f3d 5ia1 81 YR J Wdddal Wi & Suid s g ae
FHEET AP S G e W 5 §1 oF YR J TR Soen! B T HEEET $ Y wRel S A § Bee
F AR BT AT B 30T 3w anfifs dwel ¥ SR nforewn # g FU ¥ R 9 § 9% TREm IR W@ 2
Horyies egquEHaE $ SR a9" WH SHIEE Fedl e fadd [ 3y & 9aifys oo TG | dem™ s @
srforawyt 3 9g Wodl &1
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.9 % 35U T g
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Objective Question

142908642 | G overnment of India announced a medium-term fiscal deficit target of 4.5% of GDP by 2025-26, which involves a 2-percentage-point

compression from current levels over the course of three financial years. Targets for the centre and states for 2023-24 are 5.9% and 3%.

respectively. with half-a-percentage point leeway to the latter for power sector reforms. States have a steeper glide path for deficit
reduction that is particularly vulnerable to political promises of free food and energy. Gol. on its part, is committed to a capital

expenditure programme to nurse India economic recovery. and is nudging states towards fiscal balance.

India's ability to attain its pre-pandemic fiscal targets is also influenced by its need to keep credit flowing to small enterprises in an

enviromment of globally high interest rates. Broad-based investment revival depends on keeping credit costs in check by better budgetin

of government expenditure. States have additional requirement of cleaning up off-budget liabilities accumulated through political

promises such as those on free electricity. Power distribution being the sole point of revenue injection. state utilities inability to pay is

holding up investments in generation and transmission.

Apart from introducing imperfections in the market mechanism, sectarian political targeting of welfare perpetuates inequality. Universal
wealth redistribution through cash transfers is a more robust approach. Promises to vote banks are essentially a zero-sum game where or
segment benefit at the cost of another. India has unsuccessfully experimented with inclusive growth for much of its post-independence
history. It has now corrected course to grow through clusters accompanied by even-handed welfare delivery. This approach has worked i
steering the economy through multiple global economic crises. A return to competitive populism will be an unnecessary throwback the

world's fastest-growing major economy can do without.

What is the medium term fixed deficit target for the Govt of India for financial year 2023-247

4.5 per cent of GDP
3.0 per cent of GDP
5.9 per cent of GDP
6.5 per cent of GDP

i o 21w e e Ty U F oW Ak

YRE TER 7 T4 2025 -26 TF TH0 9SG & 4.5 % AEael Iow N uie & 067 o1 amon 1 & fOm o= fxfrg
Tl & ST 9T R

2 viawa fag =1 01 =i 81 9 2023 -24 F 5T F5 3R U0 & U a7 A 5.9% 3 39 & forad u=nf & fou
fagga 87 & 9uR ¥ R ond ufermra 3 qomsw 21

T, S quT Hie SR Sl & TeHias amel $ W B8 0 € Siesi § Toe g 92 % A fhae $1 gy
i Bl 21 UG e AU R YR @ enfomaw #1 9ell R o & e 0ot org #dw ¥ vl ufdes & sk as
Tt T AoHNG TgeE @ EEn § Ui w1 @ SRfE aemn 9f % o Yo asdl & U @R @ HRG 3 araar
fay TR W 5= =w o & Ul § o Semt § G4l 5 WaTE S a9 39 9 et smammgear 3 o maifad 2
TUHEER X 50 & a0l e o0 F Y5 gued gl o1 X1 W a0 e W ik a3 81 g faeed o9

ba =

bl

T It % AT 3 S sue & wfiiaa Saaet @ Hres e @ srawgsa 71 egy e o 9 @ g

wRe 3 fHggq S wen g & o1 W gfyursit @aedt Pt % yiaE s F semar fGggg Sae sk g & & F
ﬁﬁmﬁ&m?ﬁ@%mwﬁwmawwwﬁﬂw%m%&m&waﬁ
BT Y Sl B

g ST H ATOHE GEUW 61 [T HfiE g SRe 21 oo aie ¥ ®1 60 T ame s 3 wiiea g
1 ¢ e Us 9er &1 g 9l ®1 #1100 oY Sifdld 511 81 YRd J Wadadal Wi & SWia s g ae
FAEET fAeT S 9 R A Y §1 oE YR T TG SoieR S T YEEET $ Ty TRl & AEE § B
A1 B AT 21 oS e e el $ SR erforawn B g9 w0 o sg | g8 S SO W B
wenyios TEgquEaaRE $ R a0" WH SFEWE 9edl e faws A Ay 3 weifys o i @ fdewm s @
srforawyt 3 9¢ WEdl &1

&= ad 2023-24 % U YRa WER =1 AEadl TuS Ny Te ST Uad 51 87
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Objective Question

143 908643 Government of India announced a medium-term fiscal deficit target of 4.5% of GDP by 2025-26, which involves a 2-percentage-point
compression from current levels over the course of three financial years. Targets for the centre and states for 2023-24 are 5.9% and 3%,
respectively. with half-a-percentage point leeway to the latter for power sector reforms. States have a steeper glide path for deficit
reduction that is particularly vulnerable to political promises of free food and energy. Gol. on its part, is committed to a capital
expenditure programme to nurse India economic recovery. and is nudging states towards fiscal balance.

India's ability to attain its pre-pandemic fiscal targets is also influenced by its need to keep credit flowing to small enterprises in an
environment of globally high interest rates. Broad-based investment revival depends on keeping credit costs in check by better budgetin
of government expenditure. States have additional requirement of cleaning up off-budget liabilities accumulated through political
promises such as those on free electricity. Power distribution being the sole point of revenue injection. state utilities inability to pay is
holding up investments in generation and transmission.

Apart from introducing imperfections in the market mechanism, sectarian political targeting of welfare perpetuates inequality. Universal
wealth redistribution through cash transfers is a more robust approach. Promises to vote banks are essentially a zero-sum game where or
segment benefit at the cost of another. India has unsuccessfully experimented with inclusive growth for much of its post-independence
history. It has now corrected course to grow through clusters accompanied by even-handed welfare delivery. This approach has worked i
steering the economy through multiple global economic erises. A return to competitive populism will be an unnecessary throwback the
world's fastest-growing major economy can do without.

India's roadmap to pre-pandemic level fiscal targets 1s primarily influenced by the considerations of

A. Keeping competitive population in check

B. Urgency of broad-based investment revival in the economy
C. Need of universal wealth re-distribution

D. Need to maintain credit flow to small enterprises

E. Steering the economy through global economic crises

Choose the correct answer from the options given below:

. A.Band C only
.C.D and E only
. A and C only

A, Band D only

E e
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P mem F1 o= gde vees Ry wit F s dfm

YT SN A a4 2025 -26 TF G O I@IE & 4.5 % Had] Toshy g 957 & 9y &1 ¢ faed §F fwdg
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i ¢ fored Ue 9eg B R 9EE F Fiud iR Ay S B #1 YR T [oEad Wi $ SR HiYem 99y O
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e far o fawedt F § ©d o @1 90 S

.FaT A, B sk C
.%aq C,D IRE
. HATA SR C

.¥aq A,BRD

R A

:A 1
A2
fx3
A4

4

Objective Question
144 908644
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Government of India announced a medium-term fiscal deficit target of 4.5% of GDP by 2025-26. which involves a 2-percentage-point
compression from current levels over the course of three financial years. Targets for the centre and states for 2023-24 are 5.9% and 3%.
respectively. with half-a-percentage point leeway to the latter for power sector reforms. States have a steeper glide path for deficit
reduction that is particularly vulnerable to political promises of free food and energy. Gol. on its part, is committed to a capital
expenditure programme to nurse India economic recovery. and is nudging states towards fiscal balance.

India's ability to attain its pre-pandemic fiscal targets is also influenced by its need to keep credit flowing to small enterprises in an
environment of globally high interest rates. Broad-based investment revival depends on keeping credit costs in check by better budgetin
of government expenditure. States have additional requirement of cleaning up off-budget liabilities accumulated through political
promises such as those on free electricity. Power distribution being the sole point of revenue injection. state utilities inability to pay is
holding up investments in generation and transmission.

Apart from introducing imperfections in the market mechanism, sectarian political targeting of welfare perpetuates inequality. Universal
wealth redistribution through cash transfers is a more robust approach. Promises to vote banks are essentially a zero-sum game where or
segment benefit at the cost of another. India has unsuccessfully experimented with inclusive growth for much of its post-independence
history. It has now corrected course to grow through clusters accompanied by even-handed welfare delivery. This approach has worked i
steering the economy through multiple global economic crises. A return to competitive populism will be an unnecessary throwback the
world's fastest-growing major economy can do without.

Secretarian political targeting of welfare, according to the passage will result into

A Inequality

B. Market imperfections
C. Profiteering

D. Inclusive growth

E. Decentralised growth

Choose the correct answer from the options given below:

A and B only
. B and C only
. Cand D only
. D and E only
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Government of India announced a medium-term fiscal deficit target of 4.5% of GDP by 2025-26. which involves a 2-percentage-point
compression from current levels over the course of three financial years. Targets for the centre and states for 2023-24 are 5.9% and 3%.
respectively. with half-a-percentage point leeway to the latter for power sector reforms. States have a steeper glide path for deficit
reduction that is particularly vulnerable to political promises of free food and energy. Gol. on its part, is committed to a capital
expenditure programme to nurse India economic recovery. and is nudging states towards fiscal balance.

India's ability to attain its pre-pandemic fiscal targets is also influenced by its need to keep credit flowing to small enterprises in an
environment of globally high interest rates. Broad-based investment revival depends on keeping credit costs in check by better budgetin
of government expenditure. States have additional requirement of cleaning up off-budget liabilities accumulated through political
promises such as those on free electricity. Power distribution being the sole point of revenue injection. state utilities inability to pay is
holding up investments in generation and transmission.

Apart from introducing imperfections in the market mechanism, sectarian political targeting of welfare perpetuates inequality. Universal
wealth redistribution through cash transfers is a more robust approach. Promises to vote banks are essentially a zero-sum game where or
segment benefit at the cost of another. India has unsuccessfully experimented with inclusive growth for much of its post-independence
history. It has now corrected course to grow through clusters accompanied by even-handed welfare delivery. This approach has worked i
steering the economy through multiple global economic crises. A return to competitive populism will be an unnecessary throwback the
world's fastest-growing major economy can do without.

Which of the following apt features of course corrected India growth story?

A. Redistributive growth

B. Cluster based growth

C. Inclusive growth

D. Even handed welfare delivery
E. Competitive populism

Choose the correct answer from the options given below:

. A, B and C only
. C.D and E only
.Aand C only
. B and D only
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The government's efforts to use technology to make ecomimerce more competitive are beginning to show up in food delivery services.
Customers are reporting noticeable price differences in orders placed on online apps using the Open Network for Digital Commerce
(ONDC). which creates a network of interconnected e-market places that makes it casier for small store-owners to tap demand online.
Platform fees for food delivery using ONDC are being reported at a fifth of those charged by the market leaders. This is a considerable
reduction in the cost of intermediation. This also holds out the potential to break the dominance of Swiggy and Zomato, and eventually
even that of retail platforms like Amazon and Flipkart. ONDC has the potential to dilute market concentration by inereased consumer
choice and lower entry barriers.

It could be a game-changer on the lines of the Unified Payments Interface (UPI), the infrastructure on which digital transactions are
growing in this country exponentially. On its own. however. technology will not be a necessary and sufficient condition to make e-
commerce more competitive. UPI has exposed those limits by being dominated by PhonePe and Google Pay. despite regulators seeking
enhanced competition from among a wide field players. ONDC, designed by the commerce ministry to democratise e-commerce. could
get around this by not being a platform. but it needs supporting regulation to break market silos.

A proposal to revive consumer protection rules that make e-market places liable for mis-selling by sellers could impede the progress of
ONDC. Sellers should ideally be responsible for information about products. and platforms be accountable for communicating it to
buyers. Consumer risks are. in some ways. magnified. in network of platforms ONDC intends to create. A mushrooming of gateways to
facilitate digital purchases has to be accompanied by a set of rules that clearly delineates market risk from produet risk.

After unified payment interface (UPI) success. which of the following government initiatives is making headlines to democrative e-
commerce these days in India?

1. Restraining e-commerce giants to follow inventory based business model
2. Decentralized e-commerce payments infrastructure

3. Proactive government facilitations of open network for digital commerce
4. Prevention of market concentration and monopolies
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Objective Question

147908647 | Tppe government's efforts to use technology to make ecommerce more competitive are beginning to show up in food delivery services.

Customers are reporting noticeable price differences in orders placed on online apps using the Open Network for Digital Commerce
(ONDC). which creates a network of interconnected e-market places that makes it easier for small store-owners to tap demand online.
Platform fees for food delivery using ONDC are being reported at a fifth of those charged by the market leaders. This is a considerable
reduction in the cost of intermediation. This also holds out the potential to break the dominance of Swiggy and Zomato, and eventually
even that of retail platforms like Amazon and Flipkart. ONDC has the potential to dilute market concentration by increased consumer
choice and lower entry barriers.

It could be a game-changer on the lines of the Unified Payments Interface (UPI), the infrastructure on which digital transactions are
growing in this country exponentially. On its own. however. technology will not be a necessary and sufficient condition to make e-
commerce more competitive. UPT has exposed those limits by being dominated by PhonePe and Google Pay, despite regulators seeking
enhanced competition from among a wide field players. ONDC, designed by the commerce ministry to demoeratise e-commerce, could
get around this by not being a platform. but it needs supporting regulation to break market silos.

A proposal to revive consumer protection rules that make e-market places liable for mis-selling by sellers could impede the progress of
ONDC. Sellers should ideally be responsible for information about products. and platforms be accountable for communicating it to
buyers. Consumer risks are. in some ways. magnified. in network of platforms ONDC intends to create. A mushrooming of gateways to
facilitate digital purchases has to be accompanied by a set of rules that clearly delineates market risk from produet risk.

According to the passage which of the following is instrument in rapid growth of the Open Network for Digital Commerce (ONDC)?

1. Network of interconnected market places

2. Decentralised payment infrastructure

3. Unified payment interface for digital commerce

4. Mushrooming gateways facilitating digital purchases
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Objective Question

148 908648 | Tpe government's efforts to use technology to make ecommerce more competitive are beginning to show up in food delivery services.

Customers are reporting noticeable price differences in orders placed on online apps using the Open Network for Digital Commerce
(ONDC). which creates a network of interconnected e-market places that makes it easier for small store-owners to tap demand online.
Platform fees for food delivery using ONDC are being reported at a fifth of those charged by the market leaders. This is a considerable
reduction in the cost of intermediation. This also holds out the potential to break the dominance of Swiggy and Zomato, and eventually
even that of retail platforms like Amazon and Flipkart. ONDC has the potential to dilute market concentration by increased consumer
choice and lower entry barriers.

It could be a game-changer on the lines of the Unified Payments Interface (UPI), the infrastructure on which digital transactions are
growing in this country exponentially. On its own, however. technology will not be a necessary and sufficient condition to make e-
commerce more competitive. UPI has exposed those limits by being dominated by PhonePe and Google Pay. despite regulators seeking
enhanced competition from among a wide field players. ONDC, designed by the commerce ministry to democratise e-commerce. could
get around this by not being a platform, but it needs supporting regulation to break market silos.

A proposal to revive consumer protection rules that make e-market places liable for mis-selling by sellers could impede the progress of
ONDC. Sellers should ideally be responsible for information about products. and platforms be accountable for communieating it to
buyers. Consumer risks are. in some ways. magnified. in network of platforms ONDC intends to create. A mushrooming of gateways to
facilitate digital purchases has to be accompanied by a set of rules that clearly delineates market risk from produet risk.

Open Network for Digital Commerce (ONDC) is getting increased traction because of

A. Strong consumer preferences and entry barriers

B. Considerable reduction in the cost of intermediation

C. A network of interconnected e-market places

D. Mushrooming growth of gateways to facilitate digital purchases
E. Proactive govt support and policy facilitation

Choose the correct answer from the options given below:

. A B and C only
. C.D and E only
.A.B. CandD only
.B. C and E only
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The government's efforts to use technology to make ecommerce more competitive are beginning to show up in food delivery services.
Customers are reporting noticeable price differences in orders placed on online apps using the Open Network for Digital Commerce
(ONDC). which creates a network of interconnected e-market places that makes it easier for small store-owners to tap demand online.
Platform fees for food delivery using ONDC are being reported at a fifth of those charged by the market leaders. This is a considerable
reduction in the cost of intermediation. This also holds out the potential to break the dominance of Swiggy and Zomato, and eventually
even that of retail platforms like Amazon and Flipkart. ONDC has the potential to dilute market concentration by inereased consumer
choice and lower entry barriers.

It could be a game-changer on the lines of the Unified Payments Interface (UPI), the infrastructure on which digital transactions are
growing in this country exponentially. On its own, however. technology will not be a necessary and sufficient condition to make e-
commerce more competitive. UPI has exposed those limits by being dominated by PhonePe and Google Pay. despite regulators seeking
enhanced competition from among a wide field players. ONDC, designed by the commerce ministry to democratise e-commerce. could
get around this by not being a platform. but it needs supporting regulation to break market silos.

A proposal to revive consumer protection rules that make e-market places liable for mis-selling by sellers could impede the progress of
ONDC. Sellers should ideally be responsible for information about products. and platforms be accountable for communicating it to
buyers. Consumer risks are. in some ways. magnified. in network of platforms ONDC intends to create. A mushrooming of gateways to
facilitate digital purchases has to be accompanied by a set of rules that clearly delineates market risk from produet risk.

Open Network for Digital Commerce (ONDC) is expected to

A. Lower consumer risk

B. Dilute market concentration
C. Reduce cost of intermediation
D. Increase competition

E. Increase market failure

Choose the correct answer from the options given below:

. A, C. and E only
.B. Cand D only
.C.D and E only
A, B and C only
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The government's efforts to use technology to make ecommerce more competitive are beginning to show up
in food delivery services. Customers are reporting noticeable price differences in orders placed on online
apps using the Open Network for Digital Commerce (ONDC), which creates a network of interconnected e-
market places that makes it easier for small store-owners to tap demand online. Platform fees for food
delivery using ONDC are being reported at a fifth of those charged by the market leaders. This is a
considerable reduction in the cost of intermediation. This also holds out the potential to break the dominance
of Swiggy and Zomato. and eventually even that of retail platforms like Amazon and Flipkart. ONDC has
the potential to dilute market concentration by increased consumer choice and lower entry barriers.

It could be a game-changer on the lines of the Unified Payments Interface (UPI), the infrastructure on which
digital transactions are growing in this country exponentially. On its own, however, technology will not be a
necessary and sufficient condition to make e-commerce more competitive. UPI has exposed those limits by
being dominated by PhonePe and Google Pay. despite regulators secking enhanced competition from among
a wide field players. ONDC, designed by the commerce ministry to democratise e-commerce, could get
around this by not being a platform. but it needs supporting regulation to break market silos.

A proposal to revive consumer protection rules that make e-market places liable for mis-selling by sellers
could impede the progress of ONDC. Sellers should ideally be responsible for information about products,
and platforms be accountable for communicating it to buyers. Consumer risks are, in some ways, magnified,

in network of platforms ONDC intends to create. A mushrooming of gateways to facilitate digital purchases
has to be accompanied by a set of rules that clearly delineates market risk from product risk.

Given below are two statements:
Statement I: Technology is a necessary and sufficient conducting to make e-commerce more competitive
Statement IT: Sellers are responsible and accountable for mis-selling on digital platforms

In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement II are true

| ]

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement II is true
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